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In a cohort study a study with case control design is planned without matching controls on calendar time and
length of follow up. The study design is best described as:

. Unmatched case control study
. Case cohort study

. Sub cohort study

. Nested case control study
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45 year old male chronic cigarette smoker gives up smoking, his risk of heart disease will

1. Become same as that of a non-smoker

2. Drop down slightly and become same as non-smoker in one year
3. Remain the same

4. Drop down substantially in one year

(1) 1
2) 2
3) 3
(4) 4
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World Health Assembly at Alma-Ata launched movement known as "Health for All (HFA) by 2000 A.D. in the
year

. 1988
. 1985
. 1978
. 1983
1) 1
2) 2
3) 3
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All of the following are true for Sparsh campaign except:

1. Launched in 2013 on anti leprosy day for its awareness
2. Program for orphan and vulnerable children
3. Empower local communities to sensitize people for stigma and discrimination against leprosy.
4. To promote community participation
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The disease transmitted by Aedes Aegypti:

1. Dengue Fever
2. Malaria
3. Kala azar
4. Filaria
1) 1
() 2
(3) 3
4) 4
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What is 90-90-90 targets of global plan for Tuberculosis (TB)

1. By 1990 the patient load of TB patients was reduced by 90% by home care of 90% patients.
2. Reach to 90% TB patients and their 90% at risk contacts with 90% successful treatment.

3. Reach 90% at risk contacts, treat 90% patients and cure 90%

4. Treat 90% TB patients, counsel 90% contacts and cure 90% population
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The chances of transferring HIV virus from a HIV positive pregnant woman to her fetus is:

.25%
. 60%
. 80%
. 90%
)1
(2 2
(3) 3
4) 4
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All the following are accepted method of control of epidemics, EXCEPT

1. Mass vaccination

2. Health education

3. Mass chemoprophylaxis
. Isolation of cases

1 1
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(3) 3

4) 4
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Short term chemoprophylaxis for malaria before travelling to an endemic area is as follows:

. Doxycycline daily for 6 weeks

. Chloroquin fortnightly for 6 months
. Metloquin daily for one month

. Proguanil weekly for 3 weeks

1) 1

) 2

(3) 3

4) 4
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Which one of the following is the most important difference of proteins. as compared to Carbohydrates and fats?

. Give more energy for same weight

. Contain hydrocarbons

. Contain nitrogen

. Are simple organic ferrous compounds
11
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Central Bureau of Health Education serves as all, except:

1. Government organization that promotes health through health education
2. Works under Ministry of Women and Child Development

3. Trains key health functionaries

4. Help school teacher training program
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Multiple regression is used when dependent variable is:

. Measured on quantitative scale

. Measured on binary categorical scale
. Survival data

. Not present
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Incidence density is an appropriate indicator when:

1. Disease has long duration
2. Population at risk can be followed through entire time period
3. There is occurrence of an outbreak
4. Chance of occurrence of episode is more than once during period of follow up.
)1
) 2
3) 3
(4) 4
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Randomization controls:

. Selection bias

. Participant bias
. Observer bias

. Evaluation bias
1) 1
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(3) 3

4) 4
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Government of India initiative to promote hygiene and sanitation in Public Health facilities is:

. Lagshya

. Kayakalp

. Mission Indradhanush

. Vande Mataram scheme
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In the given figure, which of the following is "Critical Path" ?

8 MONTHS /“
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All the statements are correct about Gantt chart except:

1. Used for communicating plans or status of a project

2. Used to assess the time duration and establish the sequence of activities for the completion of project.
3. Type of horizontal Bar diagram

4. 'x' axis (horizontal axis) represents tasks to be completed for projects.
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2) 2

(3) 3

(4) 4
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Which of the following is NOT a principle of Primary Health Care?

. Appropriate technology

. Community participation

. Equitable distribution

. Provision of essential drugs
1) 1

2) 2

(3) 3

(4) 4
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What percentage (%) of GDP should be public health expenditure as per National Health Policy, 2017

. 1.5%
.2.0%
.2.5%
.3.0%
1) 1
) 2
3) 3
4) 4
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Calculation of Human Development Index needs following data:

1. Expected years of schooling
2. Female literacy
3. Percentage of urban population
4. Percentage of households with sanitary latrine.
)1
(2) 2
(3) 3
(4) 4
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The procedure to formulate items in research area where literature is inadequate is best described as:

1. Pretest
2. Pilot study
3. Delphi technique
4. Brain storming
11
) 2
(3) 3
(a) 4
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Couples who are a priority group for contraception wherein the wife is in the reproductive age group are called:

Target couple
Eligible couple

. Protected couple

4. Ideal couple
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Which among the following is best described as artificial lakes constructed, usually of earthwork or masonry, in
which large quantities of surface water is stored?

1. Artesian well
2. Impounding reservoir
3. Tank
4. Tubewell
(1
(2) 2
(3) 3
(4) 4
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A water sample from a source of water supply of a city, is brought and tested at a laboratory. A reduction
(decreased level) of which among the following is most likely to be an indicator of water pollution?

. Biochemical Oxygen Demand

. Concentration of dissolved oxygen

. Concentration of nitrogen and phosphorus
. Total dissolved Solids (TDS)

1) 1

2) 2

(3) 3

(4) 4
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All of the following initiative have been introduced recently to improve contraceptive coverage in India
EXCEPT:

1. ANTARA introduced under family planning programme
2. Norplant is made available at Primary Health Centre
3. Centchroman is available free of cost
4. ASHAs are delivering contraceptives at doorstep.
1) 1
(2 2
(3) 3
(4) 4
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The subjective component of well-being is expressed as

. Level of living

. Standard of living

. Social and mental health
. Quality of life
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Complete the following definition of health as given by World Health Organization "Health is a state of complete
physical, mental and social well-being and not merely an absence of disease or infirmity and...... P

1. is a fundamental human right

2. is intersectoral

3. is ability to lead a socially and economically productive life
. 15 ability to adapt to internal and external stimuli

(11
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(3) 3

(4) 4
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The term 'family size' in demography refers to:

. total no. of persons in a family

. total no. of daughters in a family

. total no. of adults in a family

. total no. of children a woman has borne at a particular time
)1

(2) 2

(3) 3

(4) 4
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All are indicators to measure Quality of Life EXCEPT:

1. Gross National Product (GNP)
2. Gender related Development Index (GDI)
3. Human Development Index (HDI)
4. Human Poverty Index (HPT)
1) 1
(2) 2
(3) 3
4) 4
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Which of these is a non-hormonal Oral contraceptive ?

. Combined oral contraceptive
. Centchroman

. Emergency contraceptive pill
. Minipill
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Effectiveness of contraceptive methods can be evaluated by:

. Couple Protection Rate

. Gross Reproduction Rate

. Age Specific Fertility Rate
. Pearl Index

1) 1

2) 2

(3) 3

(4) 4
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In case of institutional deliveries, the number of post-natal home visits to be provided by ASHA/ANM for
observation of mother and newborn are:

3 and 6 respectively

4 and 7 respectively

. 7 and 14 respectively
4. 10 and 14 respectively
(1) 1

(2) 2

3) 3

(4) 4
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The "E" in "GATHER" approach for counselling on contraceptive practices refers to:

. Examine the client

. Explore their future plans

. Explain how to use the method

. Exchange ideas on population control
1) 1

) 2

3) 3

(4) 4
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Safflower oil (unrefined) chiefly contains which one of these essential amino acids in the maximum proportion?

Arachidonic acid

. Eichosapentaenoic acid
. Linoleic acid

. Linolenic acid
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4) 4
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L R

N

1[Option ID=3933]
2[Option ID=3934]
3[Option ID=3935]
4[Option ID=3936]

Sl. No.35
QBID:181035

Serum albumin concentration is used as a measure of the state of protein nutrition. What is the cut off value of
serum albumin concentration, below which it will suggest malnutrition?

. 1.5 gm/dL
. 2.5 gm/dL
.3.5 gm/dL
. 5.5 gm/dL
1) 1
(2 2
(3) 3
(4) 4

[ S R

=




I gIvur i (Rl & A & U H RRA Teg i sl &1 Sudi a1 ol ¢ | A T il &1
dg Shif-dd HIF 1 § [ 1d U8 HUNUI Bl SAId HRAT 3 2

1. 1.5 gnvdl
2.2.5 gnvdl
3.3.5 gnvdl
4. 5.5 gm/dl

)1

(2 2

(3) 3

(4) 4

1[Option ID=3937]
2[Option ID=3938]
3[Option ID=3939]
4[Option ID=3940]

Sl. No.36
QBID:181036

Group sits in two circles, inner circle group members deliberate on a problem to arrive at solution. Outer group
members record and observe the behaviour and interaction. This is best described as:

1. Focussed group discussion
2. Fish Bowl

3. Social networking

4. Sociometry

(1) 1

(2) 2

3) 3

(4) 4

T GHE ol BRI 1 931 8 | <ol R ard SHE & Yaw [Hu gow & SHie= iR ugad & fau faar
far<i d ¢ | I1e<) TR dTdd Wig & UG AdgR 3R URER 3f=:fehal Bl SfdIfId 3R HHARId PR © |
3P| [IEY B aIel JdiaH KUsa FT 5T ?

e a3d
4. GHSIHIT

1) 1
(2) 2
(3) 3
(4) 4

1. (fqwar) i< g ==i
2.
3

1[Option ID=3941]
2[Option ID=3942]
3[Option ID=3943]
4[Option ID=3944]

Sl. No.37
QBID:181037

Which of the following International Health Organizations was established just after the end of the First World
War (within five years)?

1. Health organization of the League of Nations
2. Pan American Sanitary Bureau
3. United Nations Relief and Rehabilitation Administration
4. World Health Organization
)1
2 2
(3) 3
(4) 4




[TaRad Wy el 8 U B YU [ayg< &1 GHI & =< 916 (Ui aui & 3faR) QAU g3 U1 2

1. T 3T AT &1 GRY T

2. U 3R s dl o]

3. T Y A5 AR GG FET
4. fay ware dire

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3945]
2[Option ID=3946]
3[Option ID=3947]
4[Option ID=3948]

Sl. No.38
QBID:181038

The World Health Organization (WHO) has six regional organizations. Name the regional organization of WHO
to which India belongs, and it's headquarters are located in New Delhi, India.

1. Eastern Mediterranean
2. Western Pacific

3. South East Asia

4. The Americas

11

(2) 2

(3) 3

4) 4

oy TR W3 (S, U 3ll) & ©: &I W61 § | Socd U 1. & 3 &Y W16 BT A §a1sy foraH
HRd g IR ST gE=1e 713 o], HRAH E |

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3949]
2[Option ID=3950]

3[Option ID=3951]
4[Option ID=3952]

Sl. No.39
QBID:181039

Iron deficiency anaemia is caused by which worm infestation usually?

1. Ascarias
2. Hook worm
3. Whip worm
4. Guinea worm
11
2) 2
(3) 3
4) 4

AIE BT AU SHIRT &Y o (15 1 G [y P S=qaren gafchHur & RO Eldl 6 2

I.EF@FW
2. G-IWUQT&I
3. fguad
4. Tt ard
1) 1
) 2




3) 3
(4) 4

1[Option ID=3953]
2[Option ID=3954]
3[Option ID=3955]
4[Option ID=3956]

Sl. No.40
QBID:181040

All diseases are included in list of Internationally Notifiable diseases EXCEPT:

1. Plague

2. Cholera

3. Tuberculosis
. Yellow fever
1) 1

) 2

(3) 3

4) 4

frferRad # 9 fobd AT & SrfaiRar o= At A7 Sf=RRIP ST 1 T Yt H FiFAferd ¢ 2

1. @
2. gull
3. quica / & AT
4. Uldl 5o
1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=3957]
2[Option ID=3958]
3[Option ID=3959]
4[Option ID=3960]

Sl. No.41
QBID:181041

'"Ready for RED' is :

A. e-learning platform for awareness about HIV/AIDS

B. meant for 10-19 years old individuals

C. meant for 11-16 years old individuals

D. e-learning platform for menstruation and menstrual hygiene products.

Choose the correct answer from the options given below:

A and B only
B and C only
C and D only
.Aand C only
1) 1
(2 2
(3) 3
(4) 4

B




VSl BRI

T, 313.41./T.3{13.81.04. & dR H S Redbdl & foiu 3-af-1 #= 3
10-19 GY @ 31 GYE & Al & felu g

11-16 94 & 31 g & Afdadl & el g

TSy 3R IoleH W=l 3dmel & fau g aHnda g

< fau e faded! 7 9 Gl IR &1 997 SHifoIe:

1.$ddA & B
2. HddB & C
3.HddC&D
4 HAAA&KC
(1) 1
) 2
3) 3
4) 4

Onwy

1[Option ID=3961]
2[Option ID=3962]
3[Option ID=3963]
4[Option ID=3964]

Sl. No.42
QBID:181042

The 'Central Pollution Control Board' has taken the following measures to control air pollution.

A. Setting up of ambient air quality standard for short term and annual periods.

B. Monitoring of air quality with regard to CO,, NO and Lead.

C. Submission of environment statement by polluting units made mandatory since 2014
D. Emission standards for petrol and diesel driven vehicles were first introduced in 1990.

Choose the correct answer from the options given below:

1. Aand D only
2. A and B only
3. B and C only
4. B and D only

)1

2) 2

3) 3

(4) 4

B4 UGN (0T 918 A 91g Ugyul FRfEd A & fau g A 4 S 9 U fbu g 2

A. @Y 3{ale g aiftiep 31afd & fere uRd=1 Iy UIdT A (gd Bl

B. CO,.NO 9 U1 & HdY H Igurdr & Rt

C. Yg¥® shIadl gR1 Udiarviiy fddvur &1 U¥dfd 12014 ¥ SfAdr 1 faar T g |
D. UId 4 SIoiel diefd aIgH! o [e1T Icqoi-] HIHeh| bl FAUUH 1990 H AR] fdsa1 T 2T |

919 o g el # @ U IR 1 T FIRT

1. Hdd A 3R D
2. FIAd A 3R B
3. HIAB 3R C
4. HAAB AR D

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=3965]
2[Option ID=3966]
3[Option ID=3967]
4[Option ID=3968]




Sl. No.43
QBID:181043

Pradhan Mantri Bhartiya Janaushidhi Pariyojna

A. Administered by Bureau of Pharma PSUs of India

B. Includes list of more than 1000 generic medicines

C. Operating through more than 1 lac stores.

D. Launched in 2020 by department of pharmaceuticals.

Choose the correct answer from the options given below:

. A, Bonly
.B. C only
.C,D only
.A,Donly
)1
() 2
(3) 3
(4) 4

TUTHAT YR ST gRasT

A. HRd & B <RI DI U TH . gRT YR

B. 1000 § 3/ SR | DI et aferferd
C. Uth ARG I 3{fIep TRI/GHIHI & HIH I FTferd
D. BHRG[CHd [HRT gRT AT 2020 H TR

4 fGU U fgsed| § U Uel 3R &1 994 P

1. PddA&B
2. HAAB & C
3.HAdC&D
4. HddA&D

1) 1
(2) 2
(3) 3
4) 4

SRS R o

1[Option ID=3969]
2[Option ID=3970]
3[Option ID=3971]
4[Option ID=3972]

Sl. No.44
QBID:181044

Correct statements about sequential (or two stage or series) screening:

A. Loss in Net sensitivity
B. Gain in Net sensitivity
C. Loss in Net specificity
D. Gain in Net Specificity.

Choose the correct answer from the options given below:

Aand C only
.Band C only
.Aand D only
.Band D only
)1
() 2
(3) 3
(4) 4

B SR S



S{IehTH® (31l fg=Rur 3ral gaan) e & dae # 9 H A B DY sl § 2

A. I (Mg JagT=iterar # gif
B. Y& Yde-Ritedr H i

C. T farwar 4 g1

D. I fafuwdr 7 gfa

i QU U fadedl © 9 TE] IR BT 99 DIfold:

1. Hdd A 3R C
2. FAAB IR C
3. HAATA3MRD
4. HAAB 3R D

1) 1
2 2
3) 3
4) 4

1[Option ID=3973]
2[Option ID=3974]
3[Option ID=3975]
4[Option ID=3976]

Sl. No.45
QBID:181045

A disease is suitable for screening if it fulfils the following criteria:

A. Prevalence of disease should be low

B. There is no effective treatment

C. Natural history of disease should be adequately understood

D. There is a test that can detect the disease prior to the onset of signs and symptoms.

Choose the most appropriate answer from the options given below:

1. Aand B only
2. Aand C only
3. B and D only
4. Cand D only

1) 1

) 2

(3) 3

4) 4

fFrfeRad ® I oI Y AMES Y R W Dlg A0 HRI&01 (BhIT) 5 Iugad gidl g 2

A. T B! AR (9 g =Rt |

B. @l YTl STAR A 8l

C. T & UIP P 3icIe &1 gal dief gi- d1igy

D. Ueh TRI&IUI § TSI Hebdll 3R &0l & URH g4 9 Ud A7 H1 Ug=H DI Sl Febell ¢ |

i fqu U fameyl O 9 gl 3R BT 99 Difoie:

1. HddA3MRB
2. FAT AR C
3. $IAB3IRD
4. Hdd C 3R D

1 1
(2) 2
3) 3
4) 4

1[Option ID=3977]
2[Option ID=3978]
3[Option ID=3979]
4[Option ID=3980]
|




Sl. No.46
QBID:181046

Incubation period is a period between

A. Entry of pathogen in human body to appearance of first clinical sign/symptom.
B. Entry of pathogen in arthropod till it becomes infective.

C. Entry of pathogen in host to maximal infectivity

D. Entry of pathogen to development of 50% of cases.

Choose the most appropriate answer from the options given below:

1. A, B only
2. B, C only
3.C,Donly
4.D, Aonly

)1

() 2

(3) 3

(4) 4

SO 2 fohad g ®f 3@y g 2

A. A1Fd TRR H AT YA H AR GUH I &0 & (oG /a0 & Udbed dob
B. 3UTT1S H INT0] & W< Y AhR IUh YshHD ol db

C. IRUIt H 0] b YR § AR D! e dH HebTHe I deb
D. Y] & Ja=T I DR 50% A & [y db

4 fGU U fgsed| § U Uel IR &1 994 P

1.PddA&B
2. HAAB & C
3.HAAC&D
4. FAAD & A

1) 1
(2) 2
3) 3
4) 4

1[Option ID=3981]
2[Option ID=3982]
3[Option ID=3983]
4[Option ID=3984]

Sl. No.47
QBID:181047

Drug Controller General of India

A. Supervises Central Drug Standard Control Organization

B. Licensing authority for drugs, blood and its products, vaccines etc.

C. Head office in Bangalore with zonal office in Delhi.

D. Quality monitoring of its laboratories done by quality council of India.

Choose the correct answer from the options given below:

A and B only
.Band C only
C and D only
.Aand D only
)1
() 2
(3) 3
(4) 4

B R S I



HIRd &1 HeT 3NufY s

A. D519 AN HD FEA0 G5 BT &0 B8 |

B. SAISTERI, e SR 38D Ic1G, el ATfS BT SR Wb R

C. feedt # &Eiig Sraiad & 9y TR H g ey

D. 3Y®! VNIRRT T MGl &1 ATUIHAT (AR YR $1 Uil URYE GRT ] Sl ¢ |

i QU U fadedl © 9 TE] IR BT 99 DIfold:

1. $dd A & B
2. HFdAB & C
3.HAAC&KD
4. HAAA&D
(1) 1
) 2
3) 3
4) 4

1[Option ID=3985]
2[Option ID=3986]
3[Option ID=3987]
4[Option ID=3988]

Sl. No.48
QBID:181048

Integrated Vector Management:

A. Integration done for identical vector control methods for synergy

B. Includes monthly indoor residual spray

C. Long lasting insecticide treated bed nets replaced by indoor residual spray.
D. Chemical used in indoor residual spray are pyrethrumand malathion.

Choose the most appropriate answer from the options given below:

1. Aand B only
2.Band C only
3. C and D only
4. Aand D only

1) 1

) 2

(3) 3

4) 4

TH BT IMARD (daex) Ua+H

A. Tglohdr & felu U oIl gaex [HEzv1 [afed) &1 he- fd1 ST

B. 398 i =l &1 A1Rki® awd fss®a gl g

c. Hidd ®iFl & eaRit fe@ia gRI Sdoial ®icRIg SUdIRd Hwxal=al & Ufdeio=
D. UIs8H 3R g Hiast @Il & @il [eda o ygad - ¢ |

i fau U fameyl © O gl 3R BT 99 DI

1. Pdd A& B
2. HAAB & C
3.hddC&D
4. HAAA&D

1 1
(2) 2
3) 3
4) 4

1[Option ID=3989]
2[Option ID=3990]
3[Option ID=3991]
4[Option ID=3992]
|




Sl. No.49
QBID:181049

Services provided at Nutrition Rehabilitation center (NRC)

A. Caters to children upto 14 years

B. Sensory stimulation of emotional care

C. Social assessment of family

D. Severely Malnourished child referred to hospitals.

Choose the most appropriate answer from the options given below:

A and B only
. B and C only
C and D only
.Aand D only
)1
() 2
(3) 3
(4) 4

TN G1a 1Y e TR ST RT3 SIarel Targ

B b =

A. 1494 DI 3G b & g DI GG Hdl &

B. TYddl IeIUA 3R HIGTHD o@HTd

C. URAR &1 JHISID 3HTh

D. e HUING d=di DI SRUAT U [GAT ST © |

i fau U famedl O U gl IR BT 99 DIfoid:

1. $dTA&B
2. HAAB & C
3.HddC&D
4. Hdd A& D
(1) 1
) 2
3) 3
(4) 4

1[Option ID=3993]
2[Option ID=3994]
3[Option ID=3995]
4[Option ID=3996]

Sl. No.50
QBID:181050

Rabies vaccination:

A. Part of Universal Immunization program.

B. Should be given to all high risk persons like animal handlers. wild life officers as pre exposure prophylaxis
C. Should be given to all eligible dog bite cases as post exposure prophylaxis.

D. Rabies immunoglobulin is given in category II animal bite.

Choose the correct answer from the options given below:

A and B only
.Band C only
C and D only
.Aand D only
)1
(2) 2
(3) 3
(4) 4

B S S I




STeid® (YdTo) SBIHeu & G649 H g § S-S Tl g 2

A. Tg Hifdes UfiR&0T HRIH $T 3013

B. 38 Ud JGHI T FRIe & &0 H uRgeii 9 a7 St fife U §fs 3= Siiikad drad gl safaadl &1 fean
ST =16 |

C. 39 Y IS AR & &9 H P I pIe ¢ Gyl 3ge amal o faar S =gy |

D. 4011 I STHaR & B1¢ H STelidd (Y61oT) FRTAISIT (immunoglobulin) 1 1T 2 |

i fGu T fasm el & O Ygl IR 1 99 B

1.$dd A, B
2. hdd B, C
3.%dd C, D
4.Hdd A, D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=3997]
2[Option ID=3998]
3[Option ID=3999]
4[Option ID=4000]

Sl. No.51
QBID:181051

Which of the following are true for Disaster Management Act ?

A. National Crisis Management Committee serves under Chairmanship of Cabinet Secretary.

B. National Disaster Management Authority and statutory body functions under Ministry of Agriculture
C. National Disaster Management Plan was launched in 2016

D. National Disaster Response Force functions under Ministry of defence.

Choose the most appropriate answer from the options given below:

A and B only
.Band C only
C and D only
. Aand D only
)1
2) 2
(3) 3
(4) 4

3Tgel wee Hfefaan & ddy & FafaRea d S oo Tel 6 2

A USIEEEHC Yy AT AiHSd Aid B eiegardr el S HRdl § |

B.  Hildfes b AP el Yeie Ui ol N HaATer & 3iefid Brf HRl ¢ |
C. IS 3MTUCT YeeH IS 2016 H 3RY B TS At |

D. P U bl & &l HATd & el BRI Rl g |

i QU U fab eyl § 9 TEl IR BT 99 DIfoid:

1. Hdd A3R B
2. FAABIRC
3. Had C 3R D
4. HAAAANRD

(1) 1
(2) 2
3) 3
(4) 4

LI S

1[Option ID=4001]
2[Option ID=4002]



3[Option ID=4003]
4[Option ID=4004]

Sl. No.52
QBID:181052

Rogi Kalyan Samiti:

A. Part of Hospital infection control committee.
B. Ensure adherence to protocols of treatment
C. Example of community participation

D. Provides funds for sick community members.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. C and D only
4. Aand D only

)1

2 2

3) 3

(4) 4

It Hedor givfa

A. STGATA &1 HehHU (A GATT BT 38

B. SUAR-YICIHId & HUTe Dl AT Bl §
C. IHEId® YRRl &1 Jerevur g

D. GHEH & S0 9&dl od M ver vl 3

4 fou e fa@med § ¥ U5l 3R &1 904 Bifog:

1. $dd A 3R B
2. FAAB IR C
3. FIACIRD
4. HAA AR D

(1) 1
2) 2
3) 3
4) 4

1[Option ID=4005]
2[Option ID=4006]
3[Option ID=4007]
4[Option ID=4008]

Sl. No.53
QBID:181053

Mental Health Care Act 2017:

A. Create National and State level mental health authorities
B. Promote use of Electro Convulsive therapy

C. Decriminalize the attempt to commit suicide

D. Not a responsibility of law enforcing agencies.

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. Aand C only
4. Aand D only

11

) 2

3) 3

(4) 4




AT W@ SEHTd AT, 2017 & 969 # AU A T H-HH Tal g 2

A. P 9 8 TRIY AFRD W YAl of 3=
B. facgd-anad e &1 datH

C. 3MHTE FRA P YA BT FRORGRI0T

D. BT AN R dlell Uoi ! &1 &1 gl ¢

i QU U fadedl © 9 TE] IR BT 99 DIfold:

1.%dd A, B
2. %dd B, D
3.hdd A, C
4. Hdd A, D

1 1
(2) 2
3) 3
4) 4

1[Option ID=4009]
2[Option ID=4010]
3[Option ID=4011]
4[Option ID=4012]

Sl. No.54
QBID:181054

Component of Elements of primary health care as outlined by Alma-Ata Declaration.

A. Provision of essential drugs.

B. community participation

C. An adequate supply of safe water and basic sanitation
D. Prevention and control of locally endemic diseases

E. Equitable distribution.

Choose the correct answer from the options given below:

.A,Band C only
. A, Cand D only
.B, Cand D only
.A,D and E only
(1) 1
(2) 2
3) 3
(4) 4

S{THT Al UINUI & SITHR YIS WA GAHI & dadl & 7 H A DH-HIF 4 d9ed g 2

A, ffard wfet o1 uray™

B. HIHGIA® UfaHIRETT

C. YRI&T T g Wi W=oal &t gai gfd
D. 1@ I B AR g (=01

E. Y9 faaro

= fer e fa@edl § O U8t S &1 984 S

1. Hdd A, B3R C
2. FFA A, C 3R D
3. $%dd B, C 3R D
4. Hdd A, D 3R E

1) 1
(2) 2
3) 3
4) 4

L O R

=




1[Option ID=4013]
2[Option ID=4014]
3[Option ID=4015]
4[Option ID=4016]

Sl. No.55
QBID:181055

There are many ways of classifying foods. Which among the following are among the three major types of food,
as per classification by predominant function.

A. Body-building foods

B. High fat, salt and sugar foods
C. Energy-giving foods

D. Protective foods.

Choose the most appropriate answer from the options given below:

1. A and B only
2. A.Band C only
3. A.CandD only
4. Aand C only
11
(2) 2
3) 3
(4) 4

@?IE%WM% 3D TP § | T YH gRI il & IR Haffad # ¥ &1 U @re & o 15
THR g ?

A. TRR AT F=A a1 @rey gard

B. 3= a1, WaUT d Y a1 @I Uery
C. Soll YaH A ard @i gerd

D. &t @

i fSu T fadedl H 4 Hel 3R &1 99 DI

1. HddA3MRB
2. FIA A, B3R C
3.Hdd A, C 3R D
4. Had A SR C

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=4017]
2[Option ID=4018]
3[Option ID=4019]
4[Option ID=4020]

Sl. No.56
QBID:181056

Which among the following statements are correct regarding rapid sand filter?

A. "Loss of head" refers to the gradual loss of efficiency of the filter.

B. "Loss of head" occurs because gradually the sand layer increases in height and the column of water on top
becomes lesser in height.

C. When "loss of head" becomes very high, filters are subject to a washing process known as "back washing"

D. In some rapid sand filters, compressed air is used as part of "backwashing".

Choose the most appropriate answer from the options given below:

1. A and B only

2. Aand C only

3. A.CandD only

4.B, Cand D only
(1) 1



) 2
3) 3
(4) 4

aRaT e F Ay A A D Y HFYT TG § 2

A S DL effd (@ 31TH g8) BT Jdvd [heex D BrA&HA & Hivd &ffd BT 3R ¢ |

B. "20Y B &d" I DI TR B TS 1 hiHd gl 3R IUR Od 1 $dTg H HHI b BRIl § |

C. o "2 @t effar srafies g St g df fiheey "widfér wena=" (@@®arRin) & 9 | J1d Uihar &
A EId © |

D. Bidyd @Rd ¥d [heexl H AUIiSd ar] o1 "Uldlénd Uaier" & Uhb HN & =9 H YR (a1 Sidr g |

14 feu ¢ fadbedl § 9 Yl 3R &1 98- ST

1. 5dd A 3R B
2. HAA A SR C
3. HAd A, C 3R D
4. $dd B, C 3R D
1
) 2
3) 3
4) 4

1[Option ID=4021]
2[Option ID=4022]
3[Option ID=4023]
4[Option ID=4024]

Sl. No.57
QBID:181057

Health Policy and programmes are helpful in providing prevention at:

A. Primordial level
B. Primary level
C. Secondary level
D. Tertiary level

Choose the most appropriate answer from the options given below:

1. Aand B only
2.Band C only
3. C and D only
4. Aand D only

(11

) 2

(3) 3

4) 4

Wre Hifa 3 srdeH fHafafad 7 9 fooa TRl AT FaRu § 9gis gid § 2

A AT ER

B. WY& TR
C. fedig® wR
D. Jdidd TR

i fqu U fam eyl O 9 gl 3R BT 99 DI

1. HddA3MRB
2. FIAB IR C
3. %A C 3R D
4. HAA AR D

1) 1
(2) 2
3) 3




(4) 4

1[Option ID=4025]
2[Option ID=4026]
3[Option ID=4027]
4[Option ID=4028]

Sl. No.58
QBID:181058

Which among the following are correct steps for improving the sanitary quality of tank water ?

A. The edges of the tank should be elevated

B. Steps/stairs should be built in inner walls for people to access the tank directly.
C. An elevated platform should be there from where people can draw water

D. The tank should be cleaned only at the end of the Wet Season.

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and D only
3. Aand C only
4. C and D only

1) 1

) 2

3) 3

(4) 4

< &SI bl Wbl UG H GUR B &b [ I A Y S I Hea gl g 2

A. [F IR 3T 34 g d@1ieT

B. ¢ dd ARl &1 Y& Ugd & folT ofides Siari W Wifedi/siHr s S =gy
C. Uh U1 IR 331 WehiH -1 difigtU Sig! § @R oid o I |

D. & &1 Uthls auiHd & oid # g1 &1 Sl =iy |

4 feu 0 faswed § ¥ U5l SR &1 904 P

1. Hdd A 3R B
2. FIAB IR D
3. FATA3RC
4. HdA C 3R D

1 1
2) 2
3) 3
4) 4

1[Option ID=4029]
2[Option ID=4030]
3[Option ID=4031]
4[Option ID=4032]

Sl. No.59
QBID:181059

Which among the following are social components of environment?

A. Habits

B. Income
C. Radiation
D. Rodents

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3. A.Band C only
4. B and D only
)1
) 2
3) 3



(4) 4

frgfaRRad & @ vafaru & S-S IHISS ged § 2

A, 3gd

B. 3

c. fafaxur

D. d®d (Se)

i U TTT [ el § 9 Yol 3R @1 99 B8

1. Hdd A3MRB
2. FAT AR C
3. HIA A, B3R C
4. HAAB 3R D

1 1
2 2
3) 3
4) 4

1[Option ID=4033]
2[Option ID=4034]
3[Option ID=4035]
4[Option ID=4036]

Sl. No.60
QBID:181060

An ideal candidate for Intra-uterine device is a woman who has:

A. Borne atleast two children
B. No history of Hypertension
C. Normal menstrual periods
D. No history of Pelvic disease.

Choose the correct answer from the options given below:

1. Aand C only
2. B and D only
3. C and D only
4. A and B only

1) 1

2 2

(3) 3

4) 4

SFITHIRT IUFHIUN & [T 27ef yamRll a8 3ivd ¢ o

A Gl S gl

B. BI3URCYH/3=d YKIdd &1 Sfderd A&l
C. I TSYH-PHId

D. AfOIFT BT 3T T8l

A fau e fab el O O gl 3R BT 99 Difoid:

1. BAAA & C
2. FAAB & D
3.$dd C&D
4. HAAA&B
1) 1
) 2
3) 3
(4) 4

1[Option ID=4037]
2[Option ID=4038]



3[Option ID=4039]
4[Option ID=4040]

Sl. No.61
QBID:181061

The WHO steps approach for surveillance of risk factors in non-communicable diseases comprises of:

A. Data on socio-demographic profile

B. Physical measurements like height, weight, waist circumference etc.
C. Data reported from district hospitals on hypertension and diabetes
D. Measurement of lipids in individuals aged 15-64 years.

E. Data on previous hospital admissions and treatment undertaken.

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B, Cand D only
4. A,Band D only

1) 1

2) 2

3) 3

(4) 4

TR GFRI W H SiRdA SRD! Bl R 8 [d% W W16 & TaeIRUIey SUNTH H 9 H J | a1
gfeferd g 2

A. GHTSTH-SHITh D 1 Wbred el 3ide

B. ddls. HR, i TRiY aife 19 ik A

C. 5 eregdral 9 =1 W] 9 AYHE el st &l g
D. 15-64 31 GHg & Akl # fafus A9

E. 3ard H fad # el 9 SuaR dash sfide

i fau U fas eyl © 9 gl IR 1 99 HIfoIe:

1. Hdd A, B3R C
2. FFA A, C 3R D
3. $9d B, C 3R D
4. Hdd A, B3R D

1) 1
2) 2
3) 3
4) 4

1[Option ID=4041]
2[Option ID=4042]
3[Option ID=4043]
4[Option ID=4044]

Sl. No.62
QBID:181062

Which among the following countries are members of the World Health Organization South-East Asia Region,
along with India?

A. Afghanistan
B. Bangladesh
C. Pakistan
D. Thailand

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3. B and D only
4. C and D only

1) 1



) 2
3) 3
(4) 4

FrfaRad S=If 8, YR & 91 W1y =1 B9 9 <X fay e A6, Sfaur-gd uikmr &9 & S g 2

A. AP
B. SiTdAC Y

C. Tl
D. 4503

i fqu U fameyl O 9 gl 3R BT 99 Difoie:

1. Pdd A& B
2. FAAA&C
3. $ddB & D
4. HAAC &D

1) 1

2) 2

3) 3

4) 4

1[Option ID=4045]

2[Option ID=4046]

3[Option ID=4047]
4[Option ID=4048]

Sl. No.63
QBID:181063

Apgar scoring in a newborn is based on:

A. Heart Rate, muscle tone

B. Temperature, reflex response
C. Breath count, Heart Rate

D. Colour, respiratory effort

Choose the correct answer from the options given below:

1. Aand B only
2. Aand D only
3.Band C only
4. C and D only

(11

) 2

(3) 3

(4) 4

T Faerd § U.O1S. TSR, (TR) TUF % IR 2141 8l §

A. g Tifd, =it a=

B. AIYH, Ufdad 3fohal
C. gig &l [, gea i
D. 31, %49 5

I U U [as el | 9 Yal 3R @1 99 HII:

1. $dd A& B
2. HFAAA&D
3. $ddB & C
4. HAAC & D
1) 1
) 2
(3) 3
(4) 4




1[Option ID=4049]
2[Option ID=4050]
3[Option ID=4051]
4[Option ID=4052]

Sl. No.64
QBID:181064

The following types of counselling are performed for HIV/AIDS.

A. Peer counselling

B. Prospective counselling
C. Retrospective counselling
D. Pre-test counselling

E. Post-test counselling.

Choose the correct answer from the options given below:

.A,Dand E only
. A, BandD only
.C,Dand E only
.B, Cand E only
11
(2) 2
3) 3
(4) 4

TF3MTdl/ISy & fag FafaRad # 9 fod UhR & TR &1 WanT fbar Siidi g 2

A PN (diaR) el
B. QRIAHT TRTARI

C. gdoTyl TRl

D. URI&UT-gd el

E. TRI&0-0&Td GRHR]

4 fou e fderedl § ¥ U8t S &1 984 S

1. $dd A, D 3RE
2. HAd A, B3R D
3.HddC, D 3R E
4. Hdd B, C 3R E
1 1
) 2
(3) 3
4) 4

L S R

=

1[Option ID=4053]
2[Option ID=4054]
3[Option ID=4055]
4[Option ID=4056]

Sl. No.65
QBID:181065

'Regression in time' during interview helps to

A. Study time trend

B. Increase accuracy of recall

C. Build rapport

D. Omit unnecessary questions

E. Decrease 'Don't know' response.

Choose the correct answer from the options given below:

1. A and B only
2. C and D only
3. Cand E only
4. B and E only



) 2
3) 3
(4) 4

TI&ThR & SR 90 J g 3§ 9 & e faadi §

A. THY YdTg I 34T
B. T38RI &l Fl il 9gHI

C. "FEAr g

D. 392G d Yl b1 geHl

E. Tdl ol ol IRl &l HH Bl

I AU U f9edl § I Yal IR &1 994 I

1. $dd A& B
2. Hdd C&D
3. HFddC&E

1[Option ID=4057]
2[Option ID=4058]
3[Option ID=4059]
4[Option ID=4060]

Sl. No.66
QBID:181066

Match List I with List IT

LISTI
Stage of Modern LISTII
Sewage Treatment Characteristic
Plant
: L [Function is to allow the settlement of heavier
A [Screening I

solids such as sand and gravel
Sludge that collects here 1s called "aerated sludge”
lbecause it 1s fully aerated.

B. |Grit Chamber | IL

C [Primary m [Vertical or inclined steel bars usually set 5
" |sedimentation " |lcentimetres apart

D Secondary v [Very large tank holding from 1/4 to 1/3 of the drv
" [sedimentation " |weather flow.

Choose the correct answer from the options given below:

. A-I, B-IV, C-II, D-III
. A-IL, B-1IL, C-1, D-IV
. A-IILL B-1, C-IV, D-1I
. A-IV, B-11, C-1I1, D-1
(1) 1
(2) 2
(3) 3
(4) 4

[N o

B



Gl 151 G 11 Y M iy

I
myﬁmnﬁ‘a‘—rmi
TRT

i
Fr

A [FETET (i)

H
FYEA8H G |

g1 0P g ard
ST B arfad
0% HEl 9T 8
i 78
aifad sl e |

C. MYHE Haged

1L

AT 5 HHT B
G O eafe aryar
PRI

D. [&dH® Hayed

V.

1/4 ¥ 1/3 X[ HIgH
TaTE P YR B

AT AME T3 D

FafeiRad famedl & T T8t IR &1 997 HIfT :

1. A-I. B-1V, C-II. D-II1
2. A-II, B-III, C-1, D-IV
3. A-III, B-1. C-IV, D-II
4, A-IV, B-11, C-III. D-I

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=4061]

2[Option ID=4062]

3[Option ID=4063]
4[Option ID=4064]

Sl. No.67
QBID:181067

Match List I with list IT;

LIST I (Type of Health economic analysis)

LIST II (Output is measured in terms of)

Cost Benefit

I

Monev (Interventions provide equal benefits)

Al

B. |Cost-effective II. [Number of deaths prevented
C. [Cost utility 11T [Money

D. [Cost minimalization IV QALY

Choose the correct answer from the options given below:

. A-II, B-1, C-1V, D-III
CA-L B-IV, C-1, D-T1
. A-IIL B-II, C-IV. D-1
CA-TV, B-II1, C-I1, D-1
1) 1
2 2
3) 3
(4) 4

S

B




Gl 11 G 1Y M $ifog

Sl LSk
@@= e (TSTIC THFTH
HIUT ST ])
[ (Gead THH
i IRl L AT TaH 33 ©)
aTRd g &1
B. [@TTa myIfaan S M-
C. [T JUgIRTdl L k=
D. [{d gHieRu | V. [Fguusag

FfeRad fadedl § 9 9l IR &1 99 HifIU ;

1. A-II, B-1, C-1V, D-III
2. A-III, B-1IV, C-1, D-II
3. A-III, B-1I, C-IV, D-1
4. A-IV, B-111, C-I1, D-1

1) 1

2 2

3) 3

(4) 4

1[Option ID=4065]
2[Option ID=4066]
3[Option ID=4067]
4[Option ID=4068]

Sl. No.68
QBID:181068

Match List I with List IT

LISTI LISTII
(Tvpe of Data) (Scale of Measurement)
A |Age in completed vears I. |Ordinal
B. |Gender II. |Discrete
C. |Protein Energy Malnutrition (PEM) Grade |IIL [Continuous
D. |Body weight IV. [Nominal

Choose the correct answer from the options given below:

1. A-I, B-1V, C-III, D-II
2. A-1IV, B-1, C-1I, D-III
3. A-II, B-1V, C-1, D-III
4. A-IIL B-IIL, C-L, D-IV

1) 1
2) 2
(3) 3
(4) 4
il 11 Gt 11 ¥ e Bifse
il el
STTHIUBR HIUH & ATGHT
Al ?ﬁgﬁj—qwaﬁﬁ L |[hHYdd
B. [ I. [fafdad
tﬂé@ﬁl@’(mcﬁ-ﬁ
& S L [gdd
D. E{lﬂ'{ﬁtﬂ'{ V. [

FrafeiRad famedl & O T8t IR &1 99 HIfoe :

. A-I, B-1IV, C-I1II, D-IT
. A-IV, B-1, C-11. D-II1
. A-IL B-1V, C-1, D-IIT
. A-IIL B-I1, C-1, D-IV



3) 3
(4) 4

1[Option ID=4069]
2[Option ID=4070]
3[Option ID=4071]
4[Option ID=4072]

Sl. No.69
QBID:181069

Match List I with List IT

LIST I (Unit of Study) LIST II (Type of Study)
A [Patient I. |Cross sectional study
B. [Healthy individual II. [Randomized Control Trial
C. [Population III. [Ecological Study
D. |Country IV [Field Trial

Choose the correct answer from the options given below:

.A-1, B-II, C-III, D-IV
CA-I B-TV, C-I1, D-III
.A-TIL B-IV, C-1, D-TII
. A-II, B-1II, C-1. D-IV
1) 1
2) 2
(3) 3
4) 4

il 11 gt 11 ¥ A Bifse

W I =

B

[T 1 3oz @1 3TS |Gl 11 ST 31 UK
A Rfr ic g{@;ﬂw
C. [egwEm il W
&= V. [Aa e

FrafeiRad famedl & O T8t IR &1 99 HIfoTT :

1. A-I, B-II., C-1II, D-IV
2. A-L, B-IV, C-1I. D-III
3. A-IL, B-1V, C-1, D-1IT
4. A-IL, B-1I1, C-1, D-IV
(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=4073]

2[Option ID=4074]

3[Option ID=4075]
4[Option ID=4076]

Sl. No.70
QBID:181070

Match List I with List IT

LIST I( Type of Disasters) LIST II (Modal Agency)

A [Natural I |Ministry of Agriculture

B. [Biological II. Ministry of Home Affairs

C. |Drought Relief ITI. |Ministry of Health and Family Welfare
D. |Chemical IV. [Ministry of Environment and Forest

Choose the correct answer from the options given below:

1. A-IL, B-IIL C-1. D-IV
2. A-I. B-II. C-IIL. D-IV
3. AL, B-11, C-I, D-1IV
4. A-IV, B-11, C-I1, D-I

(1) 1



) 2
3) 3
(4) 4

il 1T Gl 11 ¥ A Bifsie

T 1 AU & TSR [T 11 Fesp HTHBR0T
A Ielde L [t dara
B. [did® I |8 HAGg
C. [gEIIEd g [ ied X
SO e
D. REEHE® v [

frafeiRad fasmedl & O et IR &1 99 SIS :

1. A-I1, B-11I., C-1, D-IV
2. AL, B-1I, C-IIT, D-IV
3. A-IIL, B-11, C-I, D-IV
4. A-IV, B-1I, C-I1, D-I

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4077]

2[Option ID=4078]

3[Option ID=4079]
4[Option ID=4080]

Sl. No.71
QBID:181071

Match List I with List IT

LISTI LISTII
(Organism/Host) (Water borne disease)
A |Snail I |Weil's disease
B. |Leptospira I1 [Cholera
C. |Cwclops III. [Schistosmiasis
D. |Bacterial I'V. |[Fish tapeworm

Choose the correct answer from the options given below:

1. A-I, B-1IV, C-II, D-1II
2. A-IIIL B-1. C-IV, D-1I
3. A-IV, B-1I, C-1I1, D-1
4. A-I1, B-1II1, C-I, D-IV

1) 1
) 2
(3) 3
(4) 4
et 11 gt 11 9 fAe Sifere
I T
A [arEm I [garam
B. [qpIegisy R
C. [arsaciug I [Rprame
D. [Sfar V. [ErdaH

FrafeiRad famedl & O T8t IR &1 99 HIfoTT ;

1. A-I. B-1V, C-II, D-III
2. A-III, B-1. C-IV, D-II
3. A-IV, B-11, C-II1, D-1
4, A-1IL, B-11I, C-1, D-IV

(1) 1

(2) 2

3) 3



(4) 4

1[Option ID=4081]
2[Option ID=4082]
3[Option ID=4083]
4[Option ID=4084]

Sl. No.72
QBID:181072

Match List I with List IT

LISTI LISTII
(Biomedical Waste Category) (Example of type of waste)
A [Yellow I. |Catheter
B. [Red I1. |Scalpel
C. |White (translucent) puncture proof | III. |Plaster cast with blood
D. [Blue IV. |Glassware

Choose the correct answer from the options given below:

. A-I, B-II. C-III. D-IV
. A-II, B-1V, C-1, D-1II
. A-IIL B-1, C-II, D-IV
. A-1V, B-11, C-1I1, D-1
1 1
(2) 2
(3) 3
4) 4

Gl 11 el 11 e s

R

I 191G e | I URTE UPR &1
smfire TEIER

A e S S EINIGE|

B. [dra I |5t

c [FwEERyEh [ Tad d O W

D. Hiel V. [&hid & &§3dd

frafafed fas el & 9 TEl IR o1 997 P :

1. A-I, B-II, C-IIT, D-IV
2. A-I1, B-1V, C-1, D-IIT
3. A-IIL B-1, C-II, D-IV
4. A-1V, B-II. C-1I1, D-1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4085]
2[Option ID=4086]
3[Option ID=4087]
4[Option ID=4088]

Sl. No.73
QBID:181073

Match List I with List IT

LISTI LIST II
(Family Planning (Utilization Rates among couples as per
Methods) NFHS-4)
A |[Female Stenilization I |03%
B. [Male Sterilization II |5.6%
C. [Intra-uterine devices | IIL |36 %
D. [Condom IV.]1.5 %

Choose the correct answer from the options given below:

. A-IILL B-1, C-IV, D-TI
. A-II, B-TV, C-II1, D-1
. A-I, B-II1, C-IV, D-II
. A-IILL B-II, C-1. D-IV

W I =

=




1) 1

2) 2
3) 3
(4) 4
el 11 i 11 8 A Difsg
T I
g1 TAUGUEUH 4 &

uRaR fater fafy | srgar Siret | S
ax¥

! Fafidu I 3%
BREC R I 56%
SfguRE dar | 1L 36 %
ey IV. 159

fraferiad famedl # 9 Ugt 3R &1 =g Bifeie :

Oln|w (=

in

1. A-III, B-1. C-IV, D-II
2. A-II, B-1V, C-III, D-1
3. A-I, B-III. C-IV, D-II
. A-IIIL B-1II, C-1, D-IV
1 1
(2) 2
3) 3
(4) 4

N

1[Option ID=4089]
2[Option ID=4090]
3[Option ID=4091]
4[Option ID=4092]

Sl. No.74
QBID:181074

Match List I with List IT

LISTI LISTII
(Scheme / Programme) (service Provided)
A [R.CH-I (Reproductive and 1 Free treatment of all sick newborns
" |ChildHealth-1) " |upto 30 days after birth
B [RCH-II (Reproductive and m (Cash assistance with institutional
" |child Health II) " |care
£ e el s m i};reoducnon of Essential Obstetric
[Janani Shishu Suraksha 5 ; . .
D. 1 - IV [Strengthening of Referral Services

Choose the correct answer from the options given below:

1. A-III, B-IV., C-I1, D-1
2. A-IV, B-II. C-1, D-1II
3. A-II, B-1. C-1IV, D-TII
4. A-1, B-III, C-IV, D-II

1) 1

2) 2

3) 3

(4) 4



Gl 11 G 1Y M $ifog

T 1 STUBH /G = 11 Ued Hat
IR | T & 30 e 91
S EICIEIE
A ua—rﬁﬁnah?a’m L e
SR UL T : R
T ST &
B. m’m;;ﬁ?am I
EREEEET
C. [T WREMASHT | L e e ey
oF=TT Tr] SRl . [Eed Tamstt @
B f V. ?

fraferad famedl # 9 Het IR &1 =g Hifeie :

1. A-III, B-TIV, C-II. D-1
2. A-IV, B-11, C-1, D-TII
3. A-IL, B-1, C-1V, D-III
4. A-1, B-1II, C-IV, D-II

1 1

(2) 2

3) 3

4) 4

1[Option ID=4093]
2[Option ID=4094]
3[Option ID=4095]
4[Option ID=4096]

Sl. No.75
QBID:181075

Match List I with List IT

LISTI
(ICMR Institute) LBTH
[National Institute for Research in Tuberculosis _—

A (NIRT) I. [Noida
B [National Institute of Cholera and Enteric Diseases 1 lChennai

" [(NICED) g

. [National Institute of Cancer Prevention and y ;
C. Rescarch (NICPR) III. [New Delhi
D. [National Institute of Malaria Research (NIMR) IV. | Kolkata

Choose the correct answer from the options given below:

1. A-II, B-1, C-1IV, D-TII
2. A-TII, B-1V, C-I1, D-1
3. A-IV, B-1I, C-1, D-III
4. A-I1, B-1V, C-I, D-III

1) 1

2) 2

3) 3

4) 4



Gl 11 G 1Y M $ifog

T 1 ARHITHAR TR | G 11 e I
RIET qUied SFfUYH
EEE]
B. [.% @ I [
RIP HER HaRU
C. [rIguE IRH m. [ fEeeh
e
Y | o |
D. @ ) | V- [P

fafeiRad fasmedl & O U8t IR &1 90 SIS :

1. A-IL, B-1, C-1V, D-III
2. A-III, B-1V. C-I1. D-1
3. A-IV, B-II, C-1, D-TII
4. A-I1, B-1IV, C-1, D-III

1 1

(2) 2

(3) 3

4) 4

1[Option ID=4097]

2[Option ID=4098]

3[Option ID=4099]
4[Option ID=4100]

Sl. No.76
QBID:181076

Arrange the steps of Planning Cycle in a chronological, order (Logical sequence)

A. Monitoring and Evaluation

B. Programming and implementation
C. Assessment of resources

D. Analysis of existing health situation.

Choose the correct answer from the options given below:
1.
2.
3

(1) 1
(2) 2
(3) 3
(4) 4

A1 <sh & 9 HEHT DI DITHAMER (dlibD 3IHH H) HalRYd Hifod :

A. TR g g

B. BRIshH §MH1 9 HITGgA

C. T1eHE] BT Tha

D. faemm W@y Rufa &1 fazayo

i feu 77 fash el § 9 gl 3R 1 99 DIfT:

W
NoBop»

WO
wowo

> 2> >

1) 1
(2) 2
3) 3
4) 4



1[Option ID=4101]
2[Option ID=4102]
3[Option ID=4103]
4[Option ID=4104]

Sl. No.77
QBID:181077

Maslow's hierarchy of needs' from top to bottom are:

A. Recognition

B. Belongingness

C. Security

D. Self Actualization
E. Physiological needs

Choose the correct answer from the options given below:

1.C,B.AE,D
2.E.C,B,A,D
3.BLE.C.D A
4.E,B,C,A,D

1 1

(2) 2

(3) 3

4) 4

Al BT AT DI BT YSMHpH HUR I =i DI 3R 5 gh -

A. UgIH /BTl
B. J¥dgdl

C. gReq

D. -G

E. IRRIGUIdA® avgsdhdig

i fu U fas eyl § 9 Ul 3R &1 99+ HifSIT:
1.C,B.AE D
2B G BA D
3.BE.C.D. A
4 EB.CAD
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4105]
2[Option ID=4106]
3[Option ID=4107]
4[Option ID=4108]

Sl. No.78
QBID:181078

Arrange the below given milestones for adaptive development of a child in correct order of appearance.

A. Begins to reach out for objects

B. Releases objects

C. Builds on objects

D. Transfers objects from one hand to other.

Choose the correct answer from the options given below:

1.AD.B,C
2:8,B,D,C
3 A D C B
4.B.A,C.D
)1
2 2

3) 3



(4) 4

forddl &= & Sl fabry @ fafe Agayul uerdl o1 39d Uhed & Hel ohH H TSy

A. 31 I Y591 J® PRI ¢ |

B. a3l Bl Blsdl g |

C. IS R AR FRAT© |

D. a3l B U g1 U gHR g1Y H gxI=IRd Hdl g |

i U TTT [ el | 9 Ul 3R @1 99 B
L.ADBC
2.A,B,D,C
3.A.D,C,B
4.B,A,C,D
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=4109]
2[Option ID=4110]
3[Option ID=4111]
4[Option ID=4112]

Sl. No.79
QBID:181079

Below are the milestones of National Family Welfare Programme achieved at different time periods. Arrange
them in progressive order of achievement.

A. Introduction of Lippes Loop

B. Adoption of Medical Termination of Pregnancy Act
C. Voluntary acceptance of sterilization

D. Continuum of Care Approach.

Choose the correct answer from the options given below:

1.A,D,C.B
2.AB.C.D
3.C,B.A.D
4 A.C.D,B

1 1

(2) 2

3) 3

4) 4

i< P URER Bedrr SrihH gRI fafts Grarafe § Ui #gayui gsd [GU U g | 3 Judi«a] &
T & IR d&d HH H 3T |

A 10 U &1 g

B. T4 & [l GH1I ST &I uiikd far S
C. 4R B Wi Wbl

D. SAHTA HIHITH BT FIdd

i U U fad eyl § 9 Ul 3R &1 99+ Bl
1.A,D,C,B
2.A,B.C,D
F . BA I
4 A.C,B,D
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4113]




2[Option ID=4114]
3[Option ID=4115]
4[Option ID=4116]

Sl. No.80
QBID:181080

Arrange the theories of disease causation in chronological order from oldest to most recent one.

A. 'Beings Theory'

B. Germ Theory

C. Wheel of disease causation
D. Contagion Theory

E. Web of causation.

Choose the correct answer from the options given below:

1.B,D,A,C,E
2.A.D,B,.CE
3.C,B,A,D,E
4. D,B.AE,C

(1) 1

2) 2

3) 3

(4) 4

I HRUIE & FafeRad Rigral o UEiFad ¥ 908 & Siashd 8 aafedd Sifoig

A. d137 (Being) <1

B. WUJ (Germ) R¥GI=d

C. I HRUT BT dh

D. § (Contagion) G-
E. ©IRUId (Causation) Pl dd

A feu Tu famedl O 9 el IR BT 99+ Difoid:
1.B,D,A,C,E
2.A.D.B.C.E
3.C,B,A,D,E
4.D,B,AE, C
1 1
(2) 2
(3) 3
(4) 4

1[Option ID=4117]
2[Option ID=4118]
3[Option ID=4119]
4[Option ID=4120]

Sl. No.81
QBID:181081

Arrange the following international health agencies as per the chronological order of their year of establishment
(from oldest to newest)

A. Health Organization of the League of Nations

B. Pan American Sanitary Bureau

C. United Nations Relief and Rehabilitation Administration
D. World Health Organization.

Choose the correct answer from the options given below:

1. AB.CD
Z. B A C 1)
3., BLD.A
4.D,C.A,B
1) 1
(2) 2




(4) 4

frafeied srawrsiy wrea THiiid! o1 396 QI a4 & SIabHER (Fad R 9 a8 90 6 3R)
IR I |

A oI 310 R-H T TR T3
B. U 3R Wawsdl &R

C. TYaR 1Y Aed 3R YAary FATE
D. fa% Ty e

4 feu T fasm el & O Yel IR 1 99 Bifo:

1.LA,B,C,D
2.B,A,C,D
3.C,B.D.A
4.D.C,A.B

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=4121]
2[Option ID=4122]
3[Option ID=4123]
4[Option ID=4124]

Sl. No.82
QBID:181082

Arrange the following health related policies/programmes as per their year of introduction (from oldest to most
recent)

A. National Disaster Management Plan
B. National Health Mission

C. PM Jan Aarogya Yojna

D. National Health Policy (Recent)

Choose the correct answer from the options given below:

1.A,B,C,D
2.C.CDLAB
3B ADLE
4.D,C,B.A

1) 1

(2) 2

3) 3

(4) 4

iR warea Wi il PRI H Bl 3Td WRA a8 & SIAHHIIR (WEHETH I TdHTH B 3R)
AR FIT |

A, VT TIET Y&~ TS
B. P Wy fAwH
C. 1.0, S SR GrofT1

D. PG WA Hifd (Ie)
A fau U fam eyl # T Hel 3R &1 994 B

B
ownp
nProw
ZE>0
>0 WY

1 1
(2) 2
3) 3
4) 4



1[Option ID=4125]
2[Option ID=4126]
3[Option ID=4127]
4[Option ID=4128]

Sl. No.83
QBID:181083

Arrange the following food items as per increasing order (from lowest to highest) of their Glycaemic Index, as
per ICMR National Institute of Nutrition Dietary Guidelines for Indians?

A. Banana

B. Barley

C. Soyabean
D. Corn flakes

Choose the correct answer from the options given below:

(4) 4

YR & foTg 313 1 TH. 2R, 8T 9o 31gR fn-Fde g & o quR Fufefad @re gemf #
3 b RAWDdI (ASHHD) YeAbih & dgd obH (FUdH ¥ I=aH) H Hafeyd o |

A. &dl
B. oil
C. giIareH
D. T G
i fau U fae eyl © 9 gl 3R HT 99 Difoid:
1.AB DG
2B, ACD
3.C,B,A,D
4.D,C,B,A
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4129]
2[Option ID=4130]
3[Option ID=4131]
4[Option ID=4132]

Sl. No.84
QBID:181084

Arrange the following committees as per year of their report in a chronological order (From Oldest to Newest)

A. Mudaliar Committee

B. Kartar Singh Committee
C. Jungalwalla Committee
D. Bhore Committee

Choose the correct answer from the options given below:

1.A,C,B,D
2:D. A€ B
3. DA B C
4. D.C.ADB
)1
() 2

3) 3



(4) 4

FfciRaa aifadl &1 39! RUIE & auHUR SIabHIR (RIS U Fd-aH) aRyd $Ife :

A HerferR gfafa

B. HaR &g gfafd
C. STEardr |iHfd

D. ¥R ufafa

i fqU U fae el © 9 gl 3R BT 99 DIfoie:

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=4133]
2[Option ID=4134]

3[Option ID=4135]
4[Option ID=4136]

Sl. No.85
QBID:181085

Arrange new infectious diseases recognized worldwide amongst human beings, in chronological order (Oldest to
Recent)

A. Hepatitis E virus
B. Ebola

C. HIV

D. HyN;

E. Corona Virus

Choose the correct answer from the options given below:

1.A,D,C,B,E
2.D.C.A.E.B
3.B.C.A. D E
4.E,A,B,C,D

1) 1

(2) 2

3) 3

(4) 4

ATl H (3% TR IR THIATT Y HehTHd AT 1 BIcshH (YETH I TddH DI 3R) & 3TIR 3T |

A. gUcrsfey a3y

B. 3dIdl

C. U 313 dl.
D. HsN;

E. HRIAT A3
4 fau 77U faseyl O 9 gl 3R BT 99 Difoie:

W =
i B P
ZOoNg

o
NAOHw

P
(wlesMve sl

1 1
(2) 2
3) 3
(4) 4



1[Option ID=4137]
2[Option ID=4138]
3[Option ID=4139]
4[Option ID=4140]

Sl. No.86
QBID:181086

Given below are two statements:

Statement I : Government of India had established NITI Aayog (National Institution for Transforming India) to
replace Planning Commission on 1st January, 2010.

Statement IT: NITI Aayog formulates five year plans. In the light of the above statements.
Choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

() 2

(3) 3

(4) 4

e RIE A G S

HYFT : HRA WRBR A TSI TGN o RIH TR 1 SHaR1, 2010 Bl UFSATS IS SN (AU S e[ BIR
CIAPITHT SIS BT RYTOAT &1 2 |

HYA 1 - Al START UFasTg IS §91d1 6 |

SRIH B &b 3MTeliep H, - fT ¢ fahedt 7 I el ST BT 70 PIfe:
1. HYTI AR I aH 9 §
2. FYTI SR I 3 §
3. BYUTI A . b PYT I 3 A ©

4. BYTI A G, AfbT HYT I TT &
11
(2) 2
(3) 3
(4) 4
1[Option ID=4141]
2[Option ID=4142]

3[Option ID=4143]
4[Option ID=4144]

Sl. No.87
QBID:181087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Rain water generally has a corrosive action on lead pipes.

Reason R : Rain water in general has a highly acidic pH.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
11
(2 2
(3) 3



(4) 4

A &l Y fU U §: U DU (Assertion A) P U H [AIRad ¢ dl GURI IYb BRI (Reason R) B Y
H:

UHYF A : T DI YHFI €Y Y U (A8) 91391 1R YRS fhaiglidi @ |
HRUIR : aN1 oI § FHRT 29 9 i@ g fieg gidi @ |
IRIF HYF b 3Hdld |, Aid [GU MU f[dhed] § § Yol 3R &1 99 HIOIT |

1.A3RRIAITA ¢ AR R. A DI Ugl AR ¢
2. ARREH 9I &, dAfh-TR. A I Jol ARSI el &
3. A9 g dfbR A ©
4. AT APIRIT T
1) 1
) 2
3) 3
4) 4

1[Option ID=4145]
2[Option ID=4146]
3[Option ID=4147]
4[Option ID=4148]

Sl. No.88
QBID:181088

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion-A : Industrialization paved way for majority of most significant changes in health in sociefies.
Reason-R : These changes were due to scientific thinking about illness and not the changes in living standards.
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
(1) 1
) 2
3) 3
(4) 4
A &l Y [T B: T MDA (Assertion A) P U H [IRAd 8 I GHI IHb BRI (Reason R) B Y
q:

HIHBUA A ; TR & & H gHTSI H Falided Agayul yRad-l & 3=l & g shiaiiieor = Al g2
fepar |

HRUTR : 34 IR BT RO & GR H 1D G BT 3I¢d U7 7 fib Siig--xR H g1H ardd aikadd |
IWRIed HUA & 3MdlD |, i [T T fahed] 8§ U Yo IUTed 3R Bl 99 HIolU |

1. AR R T Tgl ¢ 3R R. A S ol A=A ©
2. AR RGHI Uel g, A R, A DI Ug! RS el o
3. ATRIE AfPIR Uel A8l ©

4. ATEI g g Al R TET &
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=4149]
2[Option ID=4150]



3[Option ID=4151]
4[Option ID=4152]

Sl. No.89
QBID:181089

Given below are two statements:

Statement I : Mycobacterium Tuberculosis is 'Sufficient' cause of tuberculosis.

Statement IT: 'Sufficient' cause means the disease cannot develop in its absence.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

11

() 2

(3) 3

(4) 4

9 A BT IET MU E:

HYT : TSP RIH LRI dUlGH BT T SRS ¢ |

DY 11 : 'JIIT DRD BT 3 § b A1 39! sufRUfa # fahRd =181 gl Gl 3 |
JWRIEK HYUH & 3Hdld H, A ST T [dHedl 8§ 9 ol 3R DI 94 HIVIu:

1L FUFIR I A 9T @
2. FYAI SR I aH! A §

3. HYTI T ¢, AT HYT I 3T g

4. PYTI NI 5. AP FYT I Td ©
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=4153]
2[Option ID=4154]

3[Option ID=4155]
4[Option ID=4156]

Sl. No.90
QBID:181090

Given below are two statements :
Statement I : Coronary Heart Disease has risk factors that include physical inactivity and smoking.

Statement II: Relationship of physical inactivity and smoking to coronary heart disease is 'sufficient’ but not
'necessary'.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

Both Statement I and Statement II are false

Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

() 2

(3) 3

4) 4

2.
3.




A &l By ey U §:
HYF T : DRI Tl I & SIRGH SRS g o8 IRIRS FiShadl 9 Lo afdfad g |
HYTII : ARG BT G YHUT BT HRIFRI TEIRRT b A1 Hael YA & W=, "SHaISD 81 § |
QSR HUA S ATAlD H, i feu T fadwedi & ¥ Hel II &1 =99 DI
1. Y1 AR I aH 9 §
2. HUTT AR 1 ST 2T §

3. YT 19 ©, dfhT Y II T ©
4. PYTI1 3T 6. AP HYT I Id ©

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4157]
2[Option ID=4158]

3[Option ID=4159]
4[Option ID=4160]

Sl. No.91
QBID:181091

Read the given paragraph and answer question :

Chief Medical Officer of a district presents data where proportion of deaths due to Non-communicable diseases
were 70% in current year as compared to 50% for last 5 years. The data for junk food consumption as well as
proportion of people with obesity shows consistent increase over last few years. Data was collected for fat intake
in patients with and without Non-communicable diseases (NCDs) as given below.

Fat intake NCD
Present |Absent Total
High 60 50 110
Low 40 50 90
Total 100 100 200

fafafad e o ufdu 9 Uy &1 I oY -

U fo7al o H@ [IfdveT SUeRT A siids URdd (U foFH aaHr ay H IR SRl N & BRI gs HIdl DI
ST 471 5 a9 & 50% DT G H 70% U7 | FieG1 @HI (Sib Bg) SYHRT G HIC Afkrdl & Jurd Heiell
sficsl H I [Usd P& aul & GRM Jdd Jl fG@Ts gdl 8 | TR YaRI I (NCD) U U%d 9 IR SR IR &
a1 AT H g91 IUHIT st 3fichs U fhy 7T ol HUaR & -

Tal LRI
e [SuRm o | 20
3= 60 50 110
BE] 10 50 00
D 100 100 00

Most likely reason for Increase in proportion of deaths due to NCDs in the population :

1. Number of people with NCDs have decreased
2. Proportion of people with NCDs who are able to access critical care services have decreased
3. Case fatality rate for NCDs has decreased
4. Deaths due to other causes (non NCDs) might have decreased
1) 1
) 2
(3) 3
(4) 4



39 ETE] H TS & BRUI g3 Hidl & 3UTd H gl BT HufaRad © 3 9ay s GrIidd SR a1 ¢ 2

1. Tl drel el bl G H HHI ge § |

2. TS arel sAfakdl o UId Sl Bl fohfeahd R Uarell deb Ugd Uld ¢ H pHI g3 6 |
3T S AFA H PG R APHI G © |

4. Y BRUN (IR TAUIST) & BRI g5 HIdl &I G H 1 gl Gl g |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=4161]
2[Option ID=4162]
3[Option ID=4163]
4[Option ID=4164]

Sl. No.92
QBID:181092

Read the given paragraph and answer question :

Chief Medical Officer of a district presents data where proportion of deaths due to Non-communicable diseases
were 70% in current year as compared to 50% for last 5 years. The data for junk food consumption as well as
proportion of people with obesity shows consistent increase over last few years. Data was collected for fat intake
in patients with and without Non-communicable diseases (NCDs) as given below.

Fat intake NCD
Present |Absent Total
[High 60 50 110
Low 40 50 90
Total 100 100 200

frafeiRed i< 1 ufeu 9 Uy 1 IR SIS

U foTdl o g& FfdredT SNSRI A siids UAd (U fomH aaH ay # IR TR} I & BRI gs HIdl Dl
SfUTd 471 5 a9l & 50% DI G H 70% AT | FeT @HI (S Bs) SYHRT d HIC Alaidl o Surd daelt
Sfidrsl # Hi [ $® anl & aRIF Hdd gl [G@TS adl ¢ | TR YaRI AT (NCD) ¥ U 9 IR GaRY R0
o1 UM H 91 IUHIT Had sfidhs U [y U ol FHEaR & -

o SR
ST [FoRE paoem | o0
3= 50 50 110
B 10 50 90
El 100 100 00

Population level study design relating increase in NCDs due to junk food consumption in population is best
described as:

1. Ecological study
2. Cohort study
3. Case control study
4. Cross sectional study
(11
) 2
3) 3
(@) 4

ATt # afedn W (S 1) IUHI Bl TTHIS] gl T SIS R & aTdd S SR &g Jftbed
1 9 1 G fog &0 H gafH aftid fear s gedarg 2

1. oRfRUfaP T e

2. U] e

3. &Y AT e

4. UTfdfAfee e (b1 Ja=Hd Tel)

1) 1
(2) 2
3) 3




(4) 4

1[Option ID=4165]
2[Option ID=4166]
3[Option ID=4167]
4[Option ID=4168]

Sl. No.93
QBID:181093

Read the given paragraph and answer question :

Chief Medical Officer of a district presents data where proportion of deaths due to Non-communicable diseases
were 70% in current year as compared to 50% for last 5 years. The data for junk food consumption as well as
proportion of people with obesity shows consistent increase over last few years. Data was collected for fat intake
in patients with and without Non-communicable diseases (NCDs) as given below.

Fat intake NCD
Present IAbsent Total
High 60 50 110
Low 40 50 90
Total 100 100 200

[FTCTRIT TTII=T <1 UleT @ Wl &1 IR alloit

T forel & 13 fefdrcd SifUhRl = sfidhe URdd fbT fSHH adH a8 # TR =Rt WM & BRUI g3 Hldl 6l
U fARTd 5 aNT & 50% D1 a1 H 70% AT | i1 AT (Sieh Bs) SYHNT d HIS ekl o Surd et
fipsl # Hi D $& Nl & SR Hdd dls faw@Tg adl 8 | TR YIRI I (NCD) I U 9 TR HARI W0
a1 AT & g9 IuHT Haell afids v U e Sl FUHER § :

ER ERIE]

ST [FiRE paoem | o
3=d 60 50 110
Bt 10 50 90
el 100 100 00

The study data presented in tabular form is suggestive of:

1. Cross Sectional Study
2. Case Control Study
3. Cohort study
4. Experimental Study
1) 1
(2 2
(3) 3
(4) 4

i 0 H TR HERM Sfids 16 H J fhae dibldd g 2

1. UTfdes e (hragarHd W al)
2. &Y AT 3

3. Il e

4. YIRS 3eqa

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4169]
2[Option ID=4170]
3[Option ID=4171]
4[Option ID=4172]

Sl. No.94
QBID:181094




Read the given paragraph and answer question :

Chief Medical Officer of a district presents data where proportion of deaths due to Non-communicable diseases
were 70% in current year as compared to 50% for last 5 years. The data for junk food consumption as well as
proportion of people with obesity shows consistent increase over last few years. Data was collected for fat intake
in patients with and without Non-communicable diseases (NCDs) as given below.

Fat intake NCD
Present A bsent Total
High 60 50 110
Low 40 50 90
Total 100 100 200

[ TcIRad TTeIi=T b1 Ufeq @ Wef &1 IR Gilei

TS forel & 78 fafarean SRt = siids wRdd fad fomH adam a9 # TR TR I & BRI gs Aidl &1
3T faTTd 5 a8l & 50% B g1 H 70% AT | Gfear @HI (S B'g) IUHNT 4 Hic Afekdl & 3urd el
Sfisi # Hi D F© aNl & GRIM Had Jls fGw@Ts adl & | TR YFRI I (NCD) d U%d 9 TR HaRI 0 &
fa=1 Al & a1 IuHIT Fddt 3fichs Ueba fby 7T ol FHUAR 3 -

Tl LERIEL
ST [SuRm e | 20
3= 60 50 110
B 10 50 90
el 100 100 00

From tabulated data, most appropriate estimate that can be calculated is :

1. Relative risk is approximately 1.25.
2. Odds ratio approximately 1.5
3. Proportion with high fat intake is 55%
4. Proportion with NCDs is 55%
1) 1
) 2
(3) 3
4) 4

Ruflee sies! A MUFHRG alfee Iugad 3Hdba g H Y Dl g 2

1. G SRIGH THTHT 1257 |
2. [T SHUId U158 |
3. 3 a4l SUHRT arel HfekTdl &1 3T 55% G |
4. TTHIE aTed ATl DT 3T 55% ¢ |
o 2
(3) 3
(4) 4

1[Option ID=4173]
2[Option ID=4174]
3[Option ID=4175]
4[Option ID=4176]

Sl. No.95
QBID:181095



Read the given paragraph and answer question :

Chief Medical Officer of a district presents data where proportion of deaths due to Non-communicable diseases
were 70% in current year as compared to 50% for last 5 years. The data for junk food consumption as well as
proportion of people with obesity shows consistent increase over last few years. Data was collected for fat intake
in patients with and without Non-communicable diseases (NCDs) as given below.

Fat intake NCD
Present A bsent Total
High 60 50 110
Low 40 50 90
Total 100 100 200

fraferRaa Teie @ ufey @ Uy &1 IR S -

TS forel & 78 fafarean SRt = siids wRdd fad fomH adam a9 # TR TR I & BRI gs Aidl &1
ST faTTd 5 aul b 50% B g1 H 70% AT | Gfear @HI (S Bg) IUHNT 4 Hie Afdadl & 3-urd el
Sfisi # Hi D F© aNl & GRIM Had Jls fGw@Ts adl & | TR YFRI I (NCD) d U%d 9 TR HaRI 0 &
fa=1 Al & a1 IuHIT Fddt 3fichs Ueba fby 7T ol FHUAR 3 -

Tar LRRIEL
ST [SuRm e | 20
3= 60 50 110
BE] 10 50 00
il 100 100 00

All of the following statements are true for dietary goals regarding total energy intake in diet from dietary fat,
EXCEPT :

1. < 20% for fats

2. 6-10% for PUFAs

3. 5-8% for ngPUFAs

. 5-10% for trans fatty acids
(1) 1

(2) 2

3) 3

(4) 4

HTERI THT GRI AER H Pl Sl STHIT Y GHal4d SR dedi & AMFe H Gl e Sy 98l ¢ [fam:

1. 91 & fIT < 20%
2. 4IguHT & U 6-10%
3. ngPUFA & [T 5-8%
4. faues (i) 991-30T & {1 5-10%
1) 1
) 2
3) 3
(4) 4

e

1[Option ID=4177]
2[Option ID=4178]
3[Option ID=4179]
4[Option ID=4180]

Sl. No.96
QBID:181096




Answer the question from the paragraph given below :

In a village with mid-year population of 25,000, there were 640 women who became pregnant during a year. Of
the pregnancies, there were 35 deaths of foetuses weighing less than 1000 grams. There were 5 foetal deaths
weighing over 1000 grams at delivery, during the year. There were 600 live births during the year. Among the
newborns, 5 died within first seven days of birth. Another 15 died before the completion of one year of life. One
of the pregnant ladies died due to excessive bleeding during delivery at home, and another lady died in a road
traffic accident, two months after delivering a child.

[ATRAd TTeli= T Ul d Uy &1 IR GIoi -

25000 ! HEATYIT ST el Teb 71id H 98 & SR 640 AT Tiddil g3 | 34 T4 T 1000 T Y HH
HR T 35 YUl B HG BI 715 | I8 & GRM 5 Ul U1 H §5 19111 HIR W & FHY 1000 UTH I 3P T |
N & R 600 Toild S gU | Taeld H ¥ 5 61§ o1 U Ugel 9Id f&-1 & IR 81775 | 15 37 Sl 7Y
Sifa &1U% a9 gul g1 9 Ugd 51 715, | U Miad] Afgd &1 8k IR HHd & SR i IFaHrd & HRU|
T B 718 SIR Ueh o= Higal 1 UHd U &l {g U Uh o gucal H G Bl TS |

Which among the following indicators can be calculated for the village for the given year, only from the
information given?

1. Early Neonatal Mortality Rate
2. Late Neonatal Mortality Rate
3. Natural Growth Rate

4. Neonatal Mortality Rate
)1

2) 2

3) 3

(4) 4

mﬂa%fa?ﬁma"rﬂéwnﬁa%aﬂwwvﬁa?ﬁaaﬁﬁa%@ﬁﬁﬁaﬁﬁﬁﬁ%ﬁﬁwﬁm
Hhdl g ?

1. 3MRfHP Ta91d g R
2. ITRAd! (<€) Aaulld Hg &R
3. UIid gl ax

1[Option ID=4181]
2[Option ID=4182]
3[Option ID=4183]
4[Option ID=4184]

Sl. No.97
QBID:181097

Answer the question from the paragraph given below :

In a village with mid-year population of 25,000, there were 640 women who became pregnant during a year. Of
the pregnancies, there were 35 deaths of foetuses weighing less than 1000 grams. There were 5 foetal deaths
weighing over 1000 grams at delivery, during the year. There were 600 live births during the year. Among the
newborns, 5 died within first seven days of birth. Another 15 died before the completion of one year of life. One
of the pregnant ladies died due to excessive bleeding during delivery at home, and another lady died in a road
traffic accident, two months after delivering a child.

faferfad meiw 1 ufew 3 uy &1 IR Y

25000 I ALTNIY SEHBAT Tl Ueh 71id H a¥ o SR 640 Afgeld Tefadt g3 | 51 74T H T 1000 UTH 4 HH
HR d1dl 35 YOI B HG 1 715 | 9N & GRM 5 TH Y01 7§ g3 IoiTebT HR YA & GHI 1000 U4 & i T |
N & GRM 600 Hoild S U | A9eld H ¥ 5 &1 Jog o U Ugdl 9Id Il & HIdR §171g 1 15 3= &l 7§y
SiTaT 1 U 98 YUl g1 ¥ Ugd 51 T3 | U TTHad Afgdl B R TR Y¥d & SR YD JRkTHdId B HRUT

I B 15 SR U 3= Higell B Y¥d I &l HIg Y4Id U Yo gue H JG &l 7S |




From the information given, which one of the following will be the NUMERATOR (in absolute numbers. and
without considering multiplier) in the calculation of the Peri Natal Mortality Rate?

5
.10
20
.25
1) 1
(2) 2
3) 3
(4) 4

e 1 A T Hgex i 0T H FafaRad |5 I S 101w (Yol § 1 H, 3R e R [99R 6

[T o

I

G b B
=)

b
b

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=4185]
2[Option ID=4186]

3[Option ID=4187]
4[Option ID=4188]

Sl. No.98
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Answer the question from the paragraph given below :

In a village with mid-year population of 25,000, there were 640 women who became pregnant during a year. Of
the pregnancies, there were 35 deaths of foetuses weighing less than 1000 grams. There were 5 foetal deaths
weighing over 1000 grams at delivery, during the year. There were 600 live births during the year. Among the
newborns, 5 died within first seven days of birth. Another 15 died before the completion of one year of life. One
of the pregnant ladies died due to excessive bleeding during delivery at home, and another lady died in a road
traffic accident, two months after delivering a child.

frafciad i< 1 ufeu 9 Uy $1 I ST

25000 T HATNIY SHEBAT a1l U 7Tid H a¥ &b SR 640 Afgeld Tfad g5 | 39 74 # T 1000 IH I HH
HR ATl 35 YOI H1 HG 81 715 | 9N o GRM 5 TH YU G g3 1or-TehT HR T & THY 1000 TH & {19 T |
aN & GRM 600 Hoild SFFH U | Ad6ld H ¥ 5 1 Jog &1 U Ugdl 9Id fe-l & HIaR §171g 1 15 3= &l 75y
Siqe &1 U 99 gui 614 T U8 d 81 7S | Teh THad Al B IR TR Ud & <R i Iadard & HRU
A Bl 718 3R U 3= Higell B U4 ¥ &1 HIg U U YSb gHeI H G gl TS |

Which among the following best represents the calculation of Maternal Mortality Ratio in the village during the
given year (with the multiplier as 1,00,000) ?

1. (1/600) = 1.00,000
2. (2/600) = 1,00,000
3. (1/25000) = 1.00,000
4. (2/25000) = 1.00,000

1 1

2) 2

3) 3

4) 4

g aY & GIRT 7Tid H HIgeh g SHIUTd 1 A0 (1,00.000 b =0 H [0 & Hi2) B (HAfiRad d 9 o1
Haiad wlafia a2

1/600) = 1.00.,000
2/600) = 1,00.,000
1/2 5000) = 1,00,000
2/25000) = 1.00,000

L.
2.
3

-
o~ — —

1) 1



) 2
3) 3
(4) 4
1[Option ID=4189]
2[Option ID=4190]

3[Option ID=4191]
4[Option ID=4192]
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Answer the question from the paragraph given below :

In a village with mid-year population of 25,000, there were 640 women who became pregnant during a year. Of
the pregnancies, there were 35 deaths of foetuses weighing less than 1000 grams. There were 5 foetal deaths
weighing over 1000 grams at delivery, during the year. There were 600 live births during the year. Among the
newborns, 5 died within first seven days of birth. Another 15 died before the completion of one year of life. One
of the pregnant ladies died due to excessive bleeding during delivery at home, and another lady died in a road
traffic accident, two months after delivering a child.

[FATRId TTeli= T Ul d Uy &1 IR Giiom

25000 @1 HEOIGUIT SIUEAT dTdl U 11id H a & GRH 640 Aigary Tadi g5 | 34 74§ I 1000 IH Y HH
HR T 35 YUl B HG 81715 | 39 & aRM 5 Ul YU Hg §3 [9F1ehT HIR WHd & FHY 1000 1A I I T |
N & GRI 600 Toild S-H gU | Taeld H ¥ 5 &1 § o0 Y Ugel 9Id f&-1 & HIdR g1 773 | 15 3 Sl 7Y
Sita &1 T o quf 819 F Tg et 81 718 | U Tad Afgen 31 8RR Ud & SR Hafiich Iaawd & HRU]
A Bl 713 3IR U 3= Higell B Y44 9 &1 HIg U U S gHeI H JG 5l 7T |

Which one among the following best represents the calculation of Crude Birth Rate (CBR) in the village during
the given year (with the multiplier as 1000)

. (595/25,000) = 1000
. (600/25,000) = 1000
A
s

W b =

605/25,000) = 1000
640/25.000) = 1000

B

(1) 1
(2) 2
(3) 3
(4) 4

g a¥ o SR TTid 7 S(=fed 51 &R (HidleiR) 1 TUHT (1000 & Y H 076 & 1Y) Bl Hafafad 4 9
i Yidifed ®i ddrg 2

595/25000) x 1000
600/25000) = 1000
605/25000) x 1000
640/25000) = 1000

S e

%
2
i
.4

B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=4193]
2[Option ID=4194]

3[Option ID=4195]
4[Option ID=4196]

Sl. No.100
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Answer the question from the paragraph given below :

In a village with mid-year population of 25,000, there were 640 women who became pregnant during a year. Of
the pregnancies, there were 35 deaths of foetuses weighing less than 1000 grams. There were 5 foetal deaths
weighing over 1000 grams at delivery, during the year. There were 600 live births during the year. Among the
newborns, 5 died within first seven days of birth. Another 15 died before the completion of one year of life. One
of the pregnant ladies died due to excessive bleeding during delivery at home, and another lady died in a road
traffic accident, two months after delivering a child.

[ATRAd TTeli= T Ul d Uy &1 IR GIoi -

25000 ! HEATYIT ST el Teb 71id H 98 & SR 640 AT Tiddil g3 | 34 T4 T 1000 T Y HH
HR T 35 YUl B HG BI 715 | I8 & GRM 5 Ul U1 H §5 19111 HIR W & FHY 1000 UTH I 3P T |
N & R 600 Toild S gU | Taeld H ¥ 5 61§ o1 U Ugel 9Id f&-1 & IR 81775 | 15 37 Sl 7Y
Sifa &1U% a9 gul g1 9 Ugd 51 715, | U Miad] Afgd &1 8k IR HHd & SR i IFaHrd & HRU|
T B 718 SIR Ueh o= Higal 1 UHd U &l {g U Uh o gucal H G Bl TS |

Which one among the following best represents the Infant Mortality Rate (IMR) in the village during the given
year (rounded to nearest whole number)?

1. 8 deaths per 1000 live births
2. 25 deaths per 1000 live births
3. 33 deaths per 1000 live births
. 67 deaths per 1000 live births
)1

) 2

(3) 3

(4) 4

Tet aN & SR, T H I 7 o (SMESUASR) (Febed qurie H) &1 Fafeiad | I S Jaad
Hiciea darg 2

1. 9fd 1000 Feild OFH R 8 G
2. 9fd 1000 Foild SFH TR 25 G
3. Afd 1000 Foild o WX 33 g
4. 9fd 1000 Foild SH W 67 G

1) 1

) 2

3) 3

(4) 4

B

1[Option ID=4197]
2[Option ID=4198]
3[Option ID=4199]
4[Option ID=4200]

Sl. No.101
QBID:1201001



The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates
50 it
36
28
4.5
30
3.0 7
FrafaRad arvit # ay 2020 ¥ &: TRI A-F H Al &1 91 (dRg H) & 912 goy 4 digdl 3R 91aR 9
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

OS] Bl ATRAR [dd30l

City

] a1 Rwlio fl==1 3
Pt [| b || || M || o |f L2
ol R = S

L[| b [ e || B2 | | =
[FER [N (NS | TOR P |

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

The ratio of the number of literates in City-F to that of City-A is:

L

S
2y

W Y =

1210

[+ ol oS B o8

=
[

(1) 1
(2) 2
(3) 3
(4) 4

TR-F 3R TR-A & o< H&R oHfdrrall o1 G &1 3l g -

[W¥]

D
e

[JET NG
0 b9 b2
R o R
e
o

=
i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=401]
2[Option ID=402]

3[Option ID=403]
4[Option ID=404]

Sl. No.102
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The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City

Number of Persons

Ratio

(in Lakhs) Males : Females

Literates :

Illiterates

5.0

52

36

238

4.5

5.0

el el Rwl kel == =2

3.0

Pt [| b || || M || o |f L2

ol R = S

| b2 ff b || =

(S [ | S | (e

FrafaRad arvit # ay 2020 ¥ &: TRI A-F H Al &1 91 (dRg H) & 912 goy 4 digdl 3R 91aR 9
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

OS] Bl ATRAR [dd30l

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

The numbers of females in City-B is

1. 138
2. 110
3.120
4, 135

(1) 1
(2) 2
(3) 3
(4) 4

TR-C H Afgarsfi &1 e & 9hel R-B § Afgdnsfi & e

L R

=

1)1
(2) 2
3) 3
(4) 4

fad

Pk — f—
P —

T O O oo

1[Option ID=405]
2[Option ID=406]
3[Option ID=407]
4[Option ID=408]

% of the number of females in City-C.

%% |

Sl. No.103
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The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates
50 it
36
28
4.5
30
3.0 7
FrafaRad arvit # ay 2020 ¥ &: TRI A-F H Al &1 91 (dRg H) & 912 goy 4 digdl 3R 91aR 9
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

OS] Bl ATRAR [dd30l

City

] a1 Rwlio fl==1 3
Pt [| b || || M || o |f L2
ol R = S

L[| b [ e || B2 | | =
[FER [N (NS | TOR P |

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

The numbers of illiterates is more than one lakh in:

1. All the six cities
2. exactly three cities
3. exactly four cities
4. exactly two cities
1) 1
2) 2
3) 3
(4) 4

U G 9 3Hfd FReRl o 9@ g -

1.9 &: R
2. B3I iHF TRI A
3. 3ld IR AR |
4. 3P &l TR H

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=409]
2[Option ID=410]

3[Option ID=411]
4[Option ID=412]

Sl. No.104
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The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the

question:

City wise Distribution of Population

City

Number of Persons
(in Lakhs)

Ratio

Males : Females

Literates : Illiterates

5.0

52

36

238

4.5

5.0

el el Rwl kel == =2

3.0

Pt [| b || || M || o |f L2

ol R = S

e (RS (R | e o (Rt
(S [ | S | (e

FafaRad arvit # ay 2020 ¥ &: FRI A-F H sAldqdl &1 W61 (drg H) & 91y goy Y digdl 3R 91eR 3
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

SRS Pl ATRAR [dd0l

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

The average of the total number of literate

1167
2.0:72
3.1.08
4.1.52

(1) 1

(2) 2

(3) 3

(4) 4

s in Cities A, B, C and E together is (in lakhs)

TR-A, B. C 3R E H AU ¥ I $d HI&RI DI TSI 1 AN ¢ (@ H) -

1..1.67
2.0.72
3.1.08
4.1.52

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=413]

2[Option ID=414]

3[Option ID=415]
4[Option ID=416]
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The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates
50 it
36
28
4.5
30
3.0
FafaRad arvit # ay 2020 ¥ &: FRI A-F H sAldqdl &1 W61 (drg H) & 91y goy Y digdl 3R 91eR 3
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

SRS Pl ATRAR [dd0l

City

] a1 Rwlio fl==1 3
P [| b || ||t || e |f 2

ol R = S
e (RS (R | e o (Rt
o [ b [ | e ] 4

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

If the number of persons increases by 10% in City-B and by 12% in City-A in 2021 with respect to 2020, then
the ratio of number of persons in City-B to that of City-A in 2021 will be :

23
.97:120
2.5
.99 1140
1) 1

(2) 2

(3) 3

4 4

afe g9 2020 b Y& a9 2021 H ATl Bt HWATH TWR-B H 10% AR TR AH 12% Bl gl 8l 6, dl TR-
B 3R TR A H Al 1 G=1 & o 3T B :

S O R

B

2

2972120
TS
4.99: 140

1) 1

(2) 2

(3) 3

@) 4

[
LIS

1[Option ID=417]
2[Option ID=418]
3[Option ID=419]
4[Option ID=420]

Sl. No.106
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Which social media platform introduces one of the main features known as "super follows" ?

1. Facebook
2. Telegram
3. Twitter
4. Whatsapp
1) 1
(2 2



3) 3
(4) 4

fer s AT SER # A 580 Wikl # 9 U BIeR - ‘R Bidle

1. gD
2. CdIUM
3. fear
4. gledq

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]

Sl. No.107
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Which theory and theorist are associated with learning through observation?

. Behaviourist theory, Skinner

. Constructivist theory, Piaget

. Social cognitive theory, Bandura
. Socio cultural theory, Vygotsky
(11

(2) 2

(3) 3

(4) 4

FFHfaRId § S1H-91 Rigid iR Rigidd? Uefor gRI Hf9m 9 Je6ied g

1. TdgRAIE & Rigid. R
2. TGaA1E1E &1 fgid, g
3. G HTHD Rigid, TS
4. AT -ARB D RHgid, ]
1) 1
2) 2
3) 3
(4) 4

W I =

B

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]

Sl. No.108
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Given below are two Statements :

Statement I : The direction of flow of emotional energy is changed through the process of redirection and
sublimation from an undesirable goal to a socially desirable one.

Statement II : Catharsis is a desirable method in which channels are provided for the release of the emotional
energy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1) 1

2) 2

(3) 3

(4) 4




EIE KA AIE BRI

HY-I : RTHD Sl & YdTg bl G faifesd ded d G qifed aed $i 3R IR 3R
IaRI®HRU HichdT gRT uRaldd gldl & |

HYA-I1 : fa= U difesd [afer g ored e 34l ([ o 1T arlgdIe YaM &l Sl 6 |
SWIdd HYF & 3fTcld H, < fau Y gl # ¥ get IIR =99 Pifoy :

1. HUF IR I A Id gl

2. FUYAI AR I I AT g |

3. HFUYT19A g, dfhd HUT 11 3T g
4. HYTI1 I ¢, dibd YT I T g

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]

Sl. No.109
QBID:1201009

What is the main aim of classroom management?

1. To keep an orderly classroom
2. To establish the primacy of the teacher
3. To sustain a quiet environment
4. To maintain a positive productive learning environment
1) 1
) 2
(3) 3
(4) 4

FrfaRad & SI1F-91 e Hee &1 T Se-9 8 2

1. &)1 bl oudRYd @1

2. YD B FFdT RAMUT BIAT

3. Q7id ITATaR] §-1T TG

 gBRIAD IAGABRT HTH el (GRAR) S48 1G]
1) 1

2) 2

(3) 3

(4) 4

I

1[Option ID=433]
2[Option ID=434]
3[Option ID=435]
4[Option ID=436]
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Match List I with List IT

List I (National MOOCs :
Comnkinkon) List IT ( Programme)
A [University Grants 1 von-Technology post-
" |Commission (UGC) *  |eraduate degree programme
B Consortium for Educational i Headesnais
P e L eacher training programme
INIOS (INational Institute of Non-Technology under-
€ : oL
Open Schooling) |graduate degree programme
e Out of School Children
B: stririe: COTHLG IV, |educational programme
[Teachers Training and ih h
Research) from class 9% to0 12

Choose the correct answer from the options given below:

1. A-III, B-1. C-IV, D-1I
2. A-1, B-TII, C-IV, D-1I
3. A-IIL B-II, C-1, D-IV
4. A-I1, B-1, C-1V, D-II1

1) 1

2) 2

3) 3

(4) 4

Gl 11 gt 11 9 e Sifse
11 RTETT 4 (MOOCs) T m vy

Eds I TCs

A |foHfE sie L [RTEdE I
ST ([ 313 e

TS L&

B. |fé® dumor gy B, e

AP Had faenedryg
Cc [WaTTdE @R | I WT Sl

ofl TH)
AP THIDI- DE-9Y 12 TP
D. |eATUe e SR ey | IV, ([Aeed & arel 9= &

i faU 70 fahegl § 9 Tg1 IR D1 999 HIfT ;

1. A-IIT, B-I, C-IV, D-1I
2. A-I, B-III, C-IV, D-IT
3. A-III, B-1I, C-1, D-1IV
4. A-1IL. B-L, C-IV, D-1I

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=437]

2[Option ID=438]

3[Option ID=439]
4[Option ID=440]

Sl. No.111
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Use of theory in social science research is important as it provides:

1. Contrasting framework
2. Excess literature
3. Justification for research
4. Quantitative data

1) 1

2) 2

3) 3

4) 4



TS fasi =it H Rigid o1 ydiv Ayl ¢ #ife gg UaH adl o :

1. AfdD! TIXET (IhHdD)
2. 3ffoR® Aifgd

R ICEIE IR

4. qETHSD 3idhg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=441]
2[Option ID=442]
3[Option ID=443]
4[Option ID=444]

SI. No.112
QBID:1201012

A sample of respondents which is available to researchers because of their access to the respondents is identified
as :

1. Random sampling

2. Quota sampling

3. Snowball sampling

. Convenience sampling
(11

(2) 2

(3) 3

(4) 4

Tl (STRardmeh @1 Pig Uidasl ol [Neddief &1 JTRere d& 3@ Ug d (YTHIT) & BRI U
ST e, U YT A SIHT ST & :

1. gref= Ufaaa-
2. FadaETES ulaea-
3. |ierd yfa=aaq
4. giqyrs-Tes Ul
(1) 1
) 2
3) 3
4) 4

B

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]

SlI. No.113
QBID:1201013

Which of the following are the steps in systematic review of literature?

A. Search for archival records

B. Define the purpose

C. Assess the relevance of selected studies

D. Identify the quality of each study

E. Interview the authors of each study selected

Choose the most appropriate answer from the options given below :

1. A,Band C only
2.B, Cand D only
3.C,Dand E only
4. A, B and E only

11

(2) 2

(3) 3

(4) 4




frferiad | 17 Fifg ®1 ogafRyd FHlan # urg o grd =Rur ¢ 2

A ™ gl gd S (darsi)

B. 3£30 &l GRUINT HATl

C. 94 [T TTT SeA] &l RISl Ui 33T |
D. U 3 1 [0Tal I gl T |

E. Ud® 99Hd 3e0gq & @] bl IR |

Oy

= 3T U fae el # 9 9ad Iugdd IR &1 94 BT -

1.$dd A, B, C
2. %dd B.C,D
3.$49d C,D.E
4.%dd A, B.E

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.114
QBID:1201014

Given below are two statements :

Statement I : Quantitative research lays emphasis on the generalisability of findings.
Statement II : Probability sampling does not generate a representative sample.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
11
2) 2
(3) 3
4) 4

BIEERIG AR

HY [ : GRATMHD e GROMHT (Fh ) B IHEIH0T0d R 99 ol © |
HU 11 : Wil ufa=aa I @i ufafafe ufdes gf Saz giarg |
JWRIET DY & 3D H, A [GU T [dhedl H§ 4 ol 3R BI 98- DU :

1. HYFI R I EH T &

2. FUYTI R I EHI 3§

3. HUF 1T g, dibd HUF 1 ATA §
4. HYTI T 5, AfpT YT T T §

1) 1
(2) 2
(3) 3
(4) 4

B

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]

Sl. No.115
QBID:1201015




Given below are two statements ;

Statement I : In probability sampling, it is not necessary that all the members of population have an equal
opportunity to be the part of the sample.

Statement IT : Non probability sampling method is not a fixed or predefined selection process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
11
2) 2
(3) 3
4) 4

BIEERIE AR

HYA I : Ul Uid=a- | g 3M19%d ol o 9 o-uedl & GH Yol &1 Ulde § 994 9 9 2iid g+
B AHAWR UK 6l |

HYF 11 : TR-UTRAar wia=g fafY U 2 sryar gd-gR{IiNd == Uishar -Tgi g |

IWRIFT HYH & 3did H, i [T T [dhed] § U Yol 39 &I 98- PIfolU :

L PUT TR I T A §
HUFI R I el 3 A &
HYTITI ¢ AfbT YT I T
HYTIA g, AP HYT NI I ©
(1) 1

(2) 2

(3) 3

4) 4

B

[ A B

e

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]

Sl. No.116
QBID:1201016

Language for communication is a product of :

1. Laboratory simulation
2. Religious affiliations
3. Everyday life
4. Elitist preference

(11

2) 2

(3) 3

4) 4

ToNoT & oty fgifesd & I fgem ueh Iareg aiom) g 2

1. TARTRITCT S0
2. eTfi P deeA
3. gHfe oifg
4. 3fHSITare] aigdi
11
) 2
(3) 3
4) 4

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]
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By creating a bunch of expectations, mass media induce which of the following among audiences:

1. Professionalism
2. Preference for corrupt practices
3. Political positivity
4. Self-fulfilling prophecy
11
(2) 2
(3) 3
(4) 4

SR URT 31Ul BT I (o) B S-HIR HIEAH (HIGHITSAT) aRidb)/giarst # Fgifed § 9 a1 uiRkd
RAG 2

1. SISl
2. Y¥ HdgRI gd A

3. YoHIT® ThRIHD
4. TH-YTTIRRT Yigsgaruit
11
) 2
(3) 3
(4) 4

1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]

Sl. No.118
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Human communication involves which of the following factors ?

A. Building symbols

B. Using symbols

C. Manipulating symbols
D. Exclusion of Culture
E. Non-use of symbols

Choose the correct answer from the options given below:

1. A.Band C only
2.B, Cand D only
3.C,Dand E only
4. A, Cand E only

(11

2) 2

(3) 3

4) 4

A9 Uy § fAaifaied oH-9 $R$ MiFdasid e 2

A. U] HT A0 BT |
B. Udliehl &l WA =T |
C. Uil &1 gL-TR

D. Y¥HId &1 {YFoi

E. Udid! &1 TR-ET

i fau U fah el 1§ 9 Yel 3R &1 99+ HIfou :

1.F9d A, B, 3R C
2. HAd B, C, AR D
3. $Had C, D, 3R E
4. HAA A, C, 3R E




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=469]
2[Option ID=470]

3[Option ID=471]
4[Option ID=472]

Sl. No.119
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Given below are two statements :

Statement I : Communicative language is the means of transmission of our values and social norms.
Statement IT : Language defines and communicates the world around us.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

11

() 2

(3) 3

(4) 4

EIEIEAI AT I

HYTT : GUYUITHS HINT §HIR el Td FIHATST HIHD] & gEl-<aRUl o] WIeH g |
HYF 1 : HINT GHIR 3MT-UN DI g1 I URHING Ud SUNd &l g |

SIS HY & 3cld H, - faT 7T fdheti # I gl IWR DI 999 DI :

1. FYFI R I GH Id &

2. FUFT R I HI 3T g

3. HFUT19A 8, Al HUT 11 3T §
4. PYTI I G, Al YT T §

1 1
(2) 2
3) 3
(4) 4

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]

Sl. No.120
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Given below are two statements :

Statement I : Communication can create a 'feel good' factor among receivers.

Statement IT : Communication can be used as an instrument to divide and alienate the receivers.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

(4) 4




A A Py fau U R :

HY L : U Wb dfef # e 3Hfd- (Plers) PRP I HR Jhdl g |

HYT 11 : GYYUT BT 3L Wi 311 Bl dle- Ud g PR o U U &b U H a1 off Yobal g |
SWRIdd HYT & 3MTcieb H, A< fau MY fadedl # ¥ ggt 3R &1 9g Pifve :

1. HYFI R I EH T &

2. FUYTI IR I aHI A §

3. FUTIII g, Al FUT I AT ¢
4. FUT1 3 5, AT PUT I T §

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]
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Consider the series given below :
-5,-3,-5,-2,-5,-1,-5.P,-5,Q,

The values of P and Q i.e. (P.Q) are

(4) 4

At <1 13 Ea R [daR DI

-5,-3,-5,-2.-5.-1.-5.P.-5.Q.
P 3R Q & HM 31Yd (P, Q) FT NI 2

1[Option ID=481]
2[Option ID=482]
3[Option ID=483]
4[Option ID=484]

Sl. No.122
QBID:1201022

10 persons can cut 7 trees in 14 days. In how many days can 16 persons cut 12 trees?

1. 16 days
2. 13 days
3. 15 days
4. 12 days

1) 1

2) 2

(3) 3

(4) 4




10 fad 7 US1 @ 14 faHT § PIe Tdhd & | 16 Afad 12 US| Bl [aH a4l T Pie Tdhd & 2

16Ta
13T
15feq
4. 12189
11
) 2
3) 3
4) 4

i b —

1[Option ID=485]
2[Option ID=486]
3[Option ID=487]
4[Option ID=488]

Sl. No.123
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The average age of a family of 5 members, three years ago, was 17 years. Inspite of the birth of a child in the
family during these 3 years the present average age of the family remains the same. What is the present age of

the child ?

1. 2 years
2. 3 years
3. 2.5 years
. 3.5 years
11

2) 2

(3) 3

4 4

i a9 gd 5 Gedl & U URAR $1 3{19d 241G 17 99 41 3 diH anf &l ofdf A yRaR A b s b TH &b
gyTd H URAR DI I S Ed 31 del a1 gl & | g DI aaH Y RT G 2

ay
ay
5y

ay

e

b D =
e
o Lh

[ ]

B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=489]
2[Option ID=490]

3[Option ID=491]
4[Option ID=492]

Sl. No.124
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Find a single discount equivalent to two successive discounts of 10% and 20%.

[ S R
L7 e B o]

-2

(1) 1
(2) 2
(3) 3
(4) 4

10% 3R 20% P &l D Fel b SRR Uhd Pe JId P ;

SRR SO ]
th © o0 =1
22 .8 .8 .8
P e s .

TR w




(2) 2
(3) 3
4) 4
1[Option ID=493]
2[Option ID=494]

3[Option ID=495]
4[Option ID=496]

Sl. No.125
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A person walks 30 meters North, then turns right and walks 30 meters. He then turns right and walks 45 meters.
Then he turns left and walks 15 meters. Again he turns left and walks 15 meters. In which direction and how far

is the person from his starting point ?

. 45 meters, west
. 35 meters, east
. 35 meters, west
. 45 meters. east
1) 1
(2) 2
(3) 3
(4) 4

Ueh ofa 30 HieX ITR b1 SR = g, {thr arferl iR g3a1 & 31k 30 Hiex gaar & | 9 fhe arfe-t ok
Sl g 3R 45 Hick 9l ¢ | {hr dg 91t 3R Hedl g 3R 15 HieR 9ddl ¢ | UhdR R 141 iR JSdi g
3R 15 HieX Fadl § | 39 AR fog U oular foval g 3R g fexn d g 2

.45 Hiex, ufgH
35HeR, gd
.35 1iex, gigH
45 1ex, gd

1) 1
(2) 2
3) 3
(4) 4

¥ S ST N T

L O R

I

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]

Sl. No.126
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Which informal fallacy is committed in the following statement - "Of course you want to buy XYZ toothpaste.
There must be a reason, why, 90 per cent of India brushes with XYZ toothpaste"

1. Slippery slope
2. Hasty generalization
3. Argumentum ad populum
4. Strawman Fallacy
)1
) 2
3) 3
(4) 4

[afeRad SuU= # ST SFITEIRS db-aly 3 - 3117 e U Y XYZ ¢UURE B Y PRATARA § |
i [l HRUER YRA H 90 WA= k] XYZ ¢ Y ST HA G 2

1. fhagad ear (Raudl W)
. ffqERT FH B0
RS CARSERIGH|
4. 919 Gadl (LTH) db-aiy
1
) 2
3) 3
4) 4

(ST O]

1[Option ID=501]



2[Option ID=502]
3[Option ID=503]
4[Option ID=504]

Sl. No.127
QBID:1201027

Which of the following statements is logically equivalent to the statement - "All women are honest human
beings"

1. Some women are non-honest human beings.
2. Some honest human beings are women.

3. Some women are honest human beings.

. No women are non-honest human beings.
(11

(2) 2

(3) 3

(4) 4

FRfcRed & 9 S HuH diidbd ©U 4 34 $UH & 9Aq ¢ - <9 AAN SHFAGR AMd g |

1. 9 Al IR-SAMGR AMI © |
2. P SHMGER A4 AU g |
3. %% AflgAY SAFMGR AMA © |
4. ls Yl AR TR- SHFGR 4Hd gl & |
(1) 1
) 2
3) 3
(4) 4

B

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]

Sl. No.128
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Which of the following statements is contradictory to the statement - "Some birds are mammals"?

. Some mammals are not birds.
. Some birds are not mammals.
. Some mamumals are birds.

. No birds are mammals.

1) 1

() 2

(3) 3

4) 4

[FrafcREd # 9 BIa1 DU 38 HUA - “Po all THURI B 1 DT ATl 52

1. % R, 9eft e E |
2. 5D Yall W1 16l § |
3. 50 WHYRL, el g |
4. @1y i velt YR T8l g |
o 2
3) 3
(4) 4

W I =

=

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]

Sl. No.129
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If the statement - "Some animals are not birds" is given as false, then which of the following statements can be
immediately inferred to be false?

. All animals are birds.

. No animals are birds.

. Some animals are birds.
. Some animals can fly.
11

(2) 2

3) 3

4) 4

qf¢ 39 AR - <P U Y&l Tel o~ I 3 & & H a1 7 g dl FafeRad H 9 fby du & aR
dThlield U U 3 g DI AN a1 ol Ghdl g 2

1. g1l g uefi § |
2. Big HI I Uai gl g |
3. PO U U g |
4.9 U IS YDA g |
o 2
3) 3
4) 4

S R

I

1[Option ID=513]
2[Option ID=514]
3[Option ID=515]
4[Option ID=516]

Sl. No.130
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Given below are two statements ;

Statement I : Indian logic treats induction and deduction as separate processes.
Statement II : Indian logic does not reject the verbalist view of logic.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
(1) 1

() 2

(3) 3

(4) 4

A A HYT TR :

HYF I : HRATT Th IR HATHA 3R A0 B g Ufch g A1 ¢ |

HY 11 : HRAT THRIRA, THRR & s BP0 Bl A T8l dRdl g |
SWRIFI HYT & 3Tl H, 414 ST MU [dhedl # 9 968 Iugdd IR D1 99 By :

| HYTI R I agl &
2. FUYAI AR I aHI TTAd 8
3. U1 Y6l g, AT U 1 TTad &
4. HYT 1A ¢, dich U Tel g

1) 1
2) 2
3) 3
(4) 4

I

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]
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QBID:1201031

An Indian company designs a mobile application to process staff records. In each record, 10 bits are used to store
staff ID and 20 bytes are used to store staff names. How many staff records can the mobile application support?

L R
—_
[ ST -]

(SO )

| S T S T
[

=

1 1
(2) 2
3) 3
4) 4

U YR $O-! @TH & 3ffieRal of Tifd ded & o8 Alegd Ui &1 fidHed TUR Sl 6 |
U AYed H WIh & g U & USRI & (1T 10 fde 3R WP & AH 994 & [olU 20 915¢ &1 TN
fpar ST § | < 9d1¢ & AieTsd Uit # fba 1w &, 21fieg iafdp g1 Udhd & -

[ O R
—
[

{0 T N N T ]
[ T T
[T ] (]

>

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=521]
2[Option ID=522]

3[Option ID=523]
4[Option ID=524]

Sl. No.132
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The action of sending text messages to fraudulently obtain another person's Bank details is called:

. Phishing

. Pharming

. Spamming
. Smishing

(11

2) 2

(3) 3

(4) 4

HUCYdD [l =T Al BT dhPRI KIRT U -1 o (e1U UTSd A= UV B Dl ohdl Hgardl 6 -

1. T IR
2. WIrHT
3, QAT
4. THIRRAT

1) 1

2) 2

(3) 3

4) 4

W I =

I

1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]

Sl. No.133
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What are the main benefits of using an SSD rather than an HDD?

A. SSD uses spinning disks and is thus more reliable.
B. SSD is considerably lighter and has a lower power consumption.
C. SSD accesses data considerably faster.

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3. B and C only
4.A,Band C

1) 1

(2) 2

(3) 3

(4) 4

HDD ! g9 SSD WIRT R+ & & d1H 1 -

A. SSD H gUiF dfchan! (R [$%d) BT YT BIdl & 3R 31 UHR U8 H(UE (A9 g |
B. SSD dgd ¥ gebl BldT ¢ 3R 3YH f[dggd &1 H @I BIAI © |
C. SSD H dgd dofl ¥ & (STe) D1 A BIAT g |

i AU U fdh eyl 1 9 Yl 3R &1 98- HIfoU ;

1. Hdd A 3R B
2. FAA AR C
3. HFIAB 3R C
4. A,B3IRC

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]

SlI. No.134
QBID:1201034

Match List I with List IT

LIST I (Statement) List IT (Value)
A [Number of bytes formed from 8 bits I |6
B. [Base-10 (denary) value of the binary number - 110 | II. 4
If there are 2T bytes in 1 mega byte, then what 1s L h

£ ithe value of P 7

IAn ISP company advertises its broadband download
speed as 128 mega bits per second. How many 4- ™ o
" Imega byte files can be downloaded per second ’
jusing the company's broad band?

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II
2. A-II, B-1. C-IV, D-III
3. A-III, B-1, C-IV, D-1I
4. A-IV, B-111, C-I, D-11

(1) 1

2) 2

3) 3

4) 4



Gl 11 G 1Y M $ifog

II

1 @) L

A | s fae 9 fHd a5e & 9= L| 6
B. | Eanem T 110 BT 99-10 (GENYRHAA | 11 | 4
B gﬁlﬁﬂwmzﬁzf'aﬁ?%?ﬁpfﬁmﬁw dil i

DS ASUHY] HUHT 20 1G9 H adldl &
th 9@ aisds Seals Wis 128 TEe
D. U UHUS § Al HUT & 81868 Bl T | IV. | 20
i hUs 4 GEISe B Tdha| Bigd
SIETIE B ST B & |

fraferad fasedl | 9 |et 3R &1 =g B :

1. A-III B-1V, C-1, D-II
2. A-II, B-1, C-IV, D-III
3. A-III, B-1. C-IV, D-II
4. A-IV, B-1I1, C-II, D-II

(1) 1

2) 2

3) 3

4) 4

1[Option ID=533]

2[Option ID=534]

3[Option ID=535]
4[Option ID=536]

Sl. No.135
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Given below are two statements :
Statement I : Entries in blogs are organized from most recent to least recent.

Statement IT : Hits are the number of occasions where key words in a search engine match up with
websites/web pages.

In the light of the above statements. choose the correct answer from the options given below :

1. Both statement I and Statement II are true

Both Statement I and Statement II are false

Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

2) 2

(3) 3

4) 4

B E R ERCTEICEE
U1 : sl H Uiyl BT 91y Hallee qd- U 3{edad 4dIH & hd H [Ha1 Sl ¢ |
HY 11 : Tl I S5 & Pl-aS 3 Tt forait aR Jeemse / dett & a1y gaferd ekt & a8 fge deard

=f

In the light of the above statements, choose the correct answer from the option given below :

2.
3.

1. HYTI IR BFUTIEH TG |
2. BYTI AR FYT I SHI 2RI T |
3. HYTI Y ¢ AfbT HYT I A ¢ |
4. PUTI I ¢ APTHYT N IT T |
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=537]



2[Option ID=538]
3[Option ID=539]
4[Option ID=540]

Sl. No.136
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Given below are two statements :

Statement I : Most of the hazardous landslides are induced by earthquakes.

Statement IT : All landslides involve falling of earth material under shear stress.

In the light of the above statements. choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

() 2

(3) 3

4) 4

BIE KA AIE AR LN

DY : HYBI GARATD Yo, HebUl T AHURT IS |

HY 11 - GHI YTl H ST &Td b ST Y- BT RRAT 91 Sl g |
SIS HY & 3dld |, - faU MY fdh el # I gt IR &1 997 DI :

1. HUF IR I g 9 &

2. FUYFAI AR M A g

3. U 19T ¢, Afhd HUT 11 3T §
4. HYTINI G, APTRYT I T §

1) 1
2) 2
3) 3
(4) 4

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]

Sl. No.137
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Given below are two statements :

Statement I : It is relatively easier to monitor and regulate water pollution caused by nonpoint sources than point
sources.

Statement IT : Nonpoint sources of water pollution may be fairly uniform and predictable throughout the year.
In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

11

() 2

(3) 3

(4) 4



A A pyT AU U R :

HYF1 : [dg Hidl B Ue IR-[dg (1 Wige) Hidl ¥ Idd i dlel oid UGyl &1 FRAT @ HeR) T
[RIZ0T BT SUETP A AT G |

HYTIL : TAUGY b TR-eig (1 @ige) Ald YUl FUH b A 3R YX I Jai1H4 gl Jahd ¢ |
JWRIEd HUA & 3Mdie H, A 3T TN fabedl # I el IR &1 994 DI :

1. HYF IR I GH d &

2. FUYAI AR Il 3§

3. U1 9T §, dfhd HUT I 3T &
4. PUTI NI E, AP FUT N TA ©

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]
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Given below are two statements :
Statement I : By 2025, two-thirds of world's people will be living in water stressed countries.

Statement IT : Growth of water withdrawal and consumption in Industrial sector is going to overtake that in
Agriculture sector by 2025.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

(4) 4

B CIR A CURI

HUA 1 : [q% TIHEI & &l [A8rs arT ay 2025 d@, STd-3HIGUwd 21 H 38 Y6 sl |

HYT L : SIS & | S-Sl (b1 3R IHD JUHNT H gf, 9 2025 db Hiva= H gi-ard IuhnT
Y 3HfYH T SIGE & |

IWRIGd DY D 3HcdAlD H. i [T ¢ fdhedi # T Hal IR Dl 98- Pifoie :

1. HUF 1R I EH I &

2. FYTI R I EHI 3§

3. FUT1IA g, Afbd HUT 11 3T §
4. FUI 3T §, AP FYT 1 IT §

1) 1
2) 2
3) 3
4) 4

1[Option ID=549]
2[Option ID=550]
3[Option ID=551]
4[Option ID=552]

Sl. No.139
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Kyoto Protocol exempted countries such as India and China from rolling back their Greenhouse
Gas emissions by about 5% below 1990 levels by 2012.

Reason R : Exemption was given to India and China as their contribution to total Green House Gas emissions of
the world was insignificant in 1997.

In the light of the above statements, choose the correct answer from the options given low :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Alis true but R is false
4. A is false but R is true
11
(2) 2
3) 3
4) 4
I ST PUA TN : U ANDHUT (Assertion A) & U H [TRAT § ol GIRT YD BRI (Reason R) & &Y
H:
TUDYT A : R Uil ¥ HR R = S G2 D1 37 gRI fby o ared gRd 77 (U g139) 19
I H d¥ 2012 T, 1990 & TR H 5% i1 BHH (BT S o Haie H e urd ot |
®RUIR : HRA 3R = D1 I Be qieg UaH oI 141 At Fiife fay B o gkd 78 719 Ioi H 31
ARTET ay 1997 H dgd BH (Hgwel ) T |
SIS HY & 3dld H, - [T MU fdh el & I gt IR oI 997 DI :

CAJRREHAITTE 3IRR A DI TSI AT &
CAJRRSHIUT g, Al R. A Bl T8I AR ol o
AYI G, AfBAR 3TTE
AT G, APIRTA G

= »

(3) 3

(4) 4

L R O

B

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]
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Sources of heat of geothermal energy are

A. Radioactive decay of unstable elements
B. Nuclear fusion

C. Magma

D. Temperature gradient inside earth

E. Oceanic circulation

Choose the correct answer from the options given below :

1. A, Band C only
2. B, C and D only
3. A, CandD only
4.C,D and E only

(1) 1

) 2

(3) 3

(4) 4



YA SSl DI I HA 6 -

A R ddl d1fegridy &g
B. ANY® I Sa—

C. 7

D. dl & 3R dTIHT Haurd
E. HeTRII 9ehUl

i f3U 71U fadedi & ¥ Uel 3k &1 99+ T

1.Fdd A, B3R C
2. FHdd B, C 3R D
3. FFAA, C3RD
4. $dd C, D 3R E

1 1
(2) 2
3) 3
(4) 4

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]
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According to NEP 2020, which of the following will not be the function of National Educational Technology
Forum (NETF) ?

. To envision strategic thrust areas in educational technology

. To build intellectual and institutional capacities in educational technology

. To provide grants for setting up educational technology centers in central government institutions
. To articulate new directions for research and innovation in educational technology.

S S I O T

1) 1
(2) 2
(3) 3
4) 4

Tt R =it 2020 b SER, FEfRad # U D1H-91 AP Afard WD BRA (TTRETD) I BRI Tel
ghT 2

1. Q&1 UIelifiet H R0 W &3 IR fdaR &1 |
2. Qi1 Mot H difad Ud ST &marst o Fid B |
3. Ssid WRHRI G H QA& 01b Uit S b1 RN B gd 3 ST |
4. Q&ifOr Yrenfie 3§ 2e Ud Fam=R gq A4 FaRil & oaRed &l |
o 2
3) 3
(4) 4

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]

SlI. No.142
QBID:1201042




National Skill Qualification Framework (NSQF) is a competency based framework that organizes all
qualifications according to a series of levels of

A. Knowledge
B. Understanding
C. Skills

D. Attitude

E. Aptitude

Choose the correct answer from the options given below :

1. B, D and E only
2. A, CandE only
3.B.Cand D only
4. A.B and D only

(11

2) 2

(3) 3

(4) 4

PTG B ARl ShHddD (CTTUHEYUD) Ueh &HdT TR hHaD g Sl b, [Hifed fbd TR &1 e &
SR FHT Aarsii &l Gfdd axdl g |

A

B. T
C. DI

D. 3if¥afa

E. 3{H&mdr

i< feu U fasedl H 9 9y Iugdd IR &1 98 HIfolg :

1.$dd B, D, AR E
2. FAA A, C, 3R E
3. $9dB, C, 3IRD
4. Hdd A, B, IR D

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=565]
2[Option ID=566]

3[Option ID=567]
4[Option ID=568]

Sl. No.143
QBID:1201043

‘What is the full form of NHERC?

. National Higher Education Review Council
National Higher Education Repository Council

. National Higher Education Regulatory Council
National Higher Education Regulatory Complex

W I =

=

1) 1
2 2
3) 3
(4) 4

UAUES 3R] &1 YU 9 &1 § 2

1. A 8R T b e R w1

2. A=A RR TSR Ruifered drafia
3. AR R TR Wgeied] Hrdfid
4. I BRR TYb M W] Sirela




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=569]
2[Option ID=570]

3[Option ID=571]
4[Option ID=572]
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Who among the following gave us the names of the twelve divisions of the solar zodiac and whose calculation of
the earth's circumference was not off the mark?

1. 1svarakrsna

2. Aryabhata

3. Bhaskaracarya
4. Brahma Gupta
)1

(2 2

(3) 3

(4) 4

[rafeiRaa & 9 farg- AR A1 (@AeR SIfSa1®) & 12 HFT BT AHEGRU [BAT 3R (57 gRT 1 TR ged] ol
URfY 1 TUHT I g & e At 2

1. SHRPW
2. 3Ye

3. YRHRE™
4. SIERTW

1) 1

) 2

(3) 3

(4) 4

1[Option ID=573]

2[Option ID=574]

3[Option ID=575]
4[Option ID=576]
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Following the recommendations of which of the following Committee the Central Advisory Board of Education
(CABE) was revived in 1935 7

1. S.H. Wood Committee
2. Hartog Committee
3. Wood-Abbot Committee
4. Sadlar Committee

(1) 1

(2) 2

(3) 3

(4) 4

fFrfaRad fog il &1 Txdfd & SMYR W H= [Rigl TagH Rl dfs (Wiels) &I ay 1935 H G =g,
fepar T 2

1. TY. U, 48 9fAfd (&Ad)
. grenT |l
.gs - Udic gfAfd
4. YSeR qiHfd
o 2
3) 3
(4) 4

(ST ]

1[Option ID=577]
2[Option ID=578]




3[Option ID=579]
4[Option ID=580]

Sl. No.146
QBID:1201046

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

4 3T 71U Tei=T 1 iU SR U T ITYdd IR alfold :

gy d e Sfc fas=id - Rd SR & &ide A& B oo dig irel=H1 & fou fq=d g |
Y@ faedR SNfY, f21en, ol 9 Ao uivded a U1 S & Haa- & UHTal o fagrafadaor 3R dfiie
TS & TATHROIAG A T TR TG AP 3R eI T8l & e, 11 781 4 | 3791 T1® T
BR HHEGIAAIET 8 39d] 3D a1l BT YR YK (a1 711 § d Isi-ilded =¥ & dau oY - Siia
& [oTie=ite A1erHi & G-I & =0 H SIS 4 | 351 39 (oY fa-ie=iiadr rsg wldariad o |
g J&Ieh AT B & IUUER & &Y T AT &b 1 ferd] 1t off | 39 Ules ¢ YRu I8 ot fas
[d9e IcTG BT IAd TRV (bl THTS H IHD G4 o [d-1=T T HReb Ual HRdl § | 3] 3 SaURUN
IcTe & D Iare dfd I Geiferd o | 35 =@dl & U Sgl [ U g & a1e Aleifis
JUDBRU G 3R YGIaRUT ] &l AT | Gl Adleg] H 3ol & lg & A1 AITHd ATeT BT Jad &RUI
HRY BT | 3HP ATl G 3R R P Fieh0] Y 34 R g 7 S el Hifd & 91y gad gl
| iyl 2rcrsd] # faRsiepd 3717 & Iuehruil qul Wifibal & HganT A GHTS B GAER=l B B qui
g |

What was the criticism of Illich on expert-based institutions?

1. Non-professionalism in sectors like medicine and transport
2. Too much expertise in the field of education
3. Adverse effects of feminization of work
4. Danger to economic progress.
1) 1
) 2
(3) 3
(4) 4

Ta=INRT - TR =i 9= 3ferd i fadl=-1 o1 ot 2

1. 3Sfe 3R ufdg oY &t § TR-caraanfiad
2. &N & &= ¥ 9gd 3ifee fqRvzidn

3. BRI & WeTHRT & Yiddd UHId

4. 3T WA DI GRT

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=581]
2[Option ID=582]
3[Option ID=583]
4[Option ID=584]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i< feu 7T ez Bl ufeu SR Uy B Iy 3Tk GIofT :

Ui d e 3ier fa=Is=IdT - smeTid SR & affdesR SffHcaror b1 3ol g reil=r & fae faweard g |
Y@ faedR i, e, ol I Ao ukded a U1 ®1d & Haa- & UHTal o fagrmfaaa o 3R dfie
TS & AIBROITG T T AR G AMfd SR Ioifde aaar & e, 1 981 ¥ | 379! 01@ T
HR SHAGAEET 8 3761 3Fd a1 & IR Ud 61 771 § d JeHiad =P & de o - Sl
& fa-ia=iie AregAl & GARHAT & U # WAifed A | 351+ 39 e faTesiiaar wese yiaariad foar |
g Y& AT DIl b IUMER & Y H AT & 1 ferdl 11 o1 | 39 Ui ¢ yRun g 2t fb
[dge TG BT IAd TRV [l FHIS H IHD G4 o [G-11=1 T HRb Ual BRI & | 3] Jd SaURUN
Jcre & D Iare dfd I Geiferd o4 | 351 =edl & 1Y gl 1 U g & a1e s
JUDHRUT 5 3R UYIGRUT P &ffch Ug=Tedl | Gogd! Adlsd] H Ioll & ale-1 & Q1Y A SHIul D1 Fad &R0
SRY BTN | 3T 3fATd] GHY 3R RIM & SiHR01 Y 3 AR Tl a1 1l el shifd & WY wad gofl
| siydl 2rcrsdl # faRsiepd 3719 & IRl qul Wificbal & HgavT A GHTS D1 GAIEREI D1 B qui
g |

His critiques were set in the context of:

1. Global historicity
2. Convivial modes of living
3. Self-degradation
4. Ethical norms
)1
(2) 2
(3) 3
(4) 4

39! FHTEEAR foog gy 7 off 2

L. S YRSl
2. SitaH B fa1exiia dfcar
3. T9-3{GHHUI
4. 4fd® AFES

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]

Sl. No.148
QBID:1201048



Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i< feu 7T ez Bl ufeu SR Uy B Iy 3Tk GIofT :

Ui d e 3ier fa=Is=IdT - smeTid SR & affdesR SffHcaror b1 3ol g reil=r & fae faweard g |
Y@ faedR i, e, ol I Ao ukded a U1 ®1d & Haa- & UHTal o fagrmfaaa o 3R dfie
TS & AIBROITG T T AR G AMfd SR Ioifde aaar & e, 1 981 ¥ | 379! 01@ T
HR SHAGAEET 8 3761 3Fd a1 & IR Ud 61 771 § d JeHiad =P & de o - Sl
& fa-ia=iie AregAl & GARHAT & U # WAifed A | 351+ 39 e faTesiiaar wese yiaariad foar |
g Y& AT DIl b IUMER & Y H AT & 1 ferdl 11 o1 | 39 Ui ¢ yRun g 2t fb
[dge TG BT IAd TRV [l FHIS H IHD G4 o [G-11=1 T HRb Ual BRI & | 3] Jd SaURUN
Jcre & D Iare dfd I Geiferd o4 | 351 =edl & 1Y gl 1 U g & a1e s
JUDHRUT 5 3R UYIGRUT P &ffch Ug=Tedl | Gogd! Adlsd] H Ioll & ale-1 & Q1Y A SHIul D1 Fad &R0
SRY BTN | 3T 3fATd] GHY 3R RIM & SiHR01 Y 3 AR Tl a1 1l el shifd & WY wad gofl
| siydl 2rcrsdl # faRsiepd 3719 & IRl qul Wificbal & HgavT A GHTS D1 GAIEREI D1 B qui
g |

What did Illich foresee in his book ?

1. Industrial Society's self-destruction.
2. More scope for mass production
3. Arrival of advanced industrial society
4. End to all struggles in the world

)1

2 2

3) 3

(4) 4

i = 3t GRad H b epT yaiga fobar o1 2

1. 3RS THNS BT -7
2. faga IcreT Bt 3{fUh GHIGT
3. 3d ST TS BT NTHA
4. fay & gt T o1 3fd

11

) 2

(3) 3

4) 4

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
4[Option ID=592]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i< feu 7T ez Bl ufeu SR Uy B Iy 3Tk GIofT :

Ui d e 3ier fa=Is=IdT - smeTid SR & affdesR SffHcaror b1 3ol g reil=r & fae faweard g |
Y@ faedR i, e, ol I Ao ukded a U1 ®1d & Haa- & UHTal o fagrmfaaa o 3R dfie
TS & AIBROITG T T AR G AMfd SR Ioifde aaar & e, 1 981 ¥ | 379! 01@ T
HR SHAGAEET 8 3761 3Fd a1 & IR Ud 61 771 § d JeHiad =P & de o - Sl
& fa-ia=iie AregAl & GARHAT & U # WAifed A | 351+ 39 e faTesiiaar wese yiaariad foar |
g Y& AT DIl b IUMER & Y H AT & 1 ferdl 11 o1 | 39 Ui ¢ yRun g 2t fb
[dge TG BT IAd TRV [l FHIS H IHD G4 o [G-11=1 T HRb Ual BRI & | 3] Jd SaURUN
Jcre & D Iare dfd I Geiferd o4 | 351 =edl & 1Y gl 1 U g & a1e s
JUDHRUT 5 3R UYIGRUT P &ffch Ug=Tedl | Gogd! Adlsd] H Ioll & ale-1 & Q1Y A SHIul D1 Fad &R0
SRY BTN | 3T 3fATd] GHY 3R RIM & SiHR01 Y 3 AR Tl a1 1l el shifd & WY wad gofl
| siydl 2rcrsdl # faRsiepd 3719 & IRl qul Wificbal & HgavT A GHTS D1 GAIEREI D1 B qui
g |

The consequence of Industrial Revolution are :

A. Damage to environment

B. Restricted use of energy

C. Conquest of time and space
D. Minimal use of resources.

Choose the correct answer from the options given below :

1. Aand B only
2. B and C only
3. C and D only
4. A and C only

1) 1

(2) 2

(3) 3

(4) 4



e ghifc & gRomA § 2

A. TOIaR0] B G

B. 3uif &I ufdsfed SuanT

C. 9HY 3R ¥ @i favg

D. 18T DT YATH ITGNT

43U U fad eyl © 9 Tgl 3R &1 999 HIfT ;

1. Hdd A3MRB
2. FAAB IR C
3. %Had C3RD
4. Had A SR C

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=593]
2[Option ID=594]

3[Option ID=595]
4[Option ID=596]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space. that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

il 7T TTU TTeIi=1 Bl ufgu 3R U DT IuGad IR alforg ;

gfaf¥d dae sferd fagivgrd - enemRd SRl & &fam ifiyaeo &1 2o dig e & fau fa=a g |
SHT AR e, fran, ol ¥ dax gikag db U7l &1 & Yaa- & YHTa] ol [o=faddor 3R dfile
O & B AGTA § AR Afadard e SR IsHifas gadr & g W 9el 4 | 39@) §1d 7
BR BRI H 3! D a3l BT YR YKd (g1 771 § d Ael-iided =¥ & daH ol - S
& faTie=ited H1erHi & G0 & =0 § Saifsrd o | 3l 39 oy fa-iesiiadr 2rss ufdurfed foar |
g Y SN DId & IUMER & Y H THAT & A1 ferd] 1l T | 39 Uies w6 yRun ag &t fds
fqge ST 1 IAd <RI fob il THIS H 3D W & [d1=1 &1 SR U1 Bl § | I7D1 B HIYRUN
I & D Iare Al 9 HalErd o | 3514 Tedl & 91 &gl [ U dg & qre s
JUDBRUN S 3R TGIGRUT b1 &I =T | GoAgdi Adlsal H 3ol & Glg & A1 HiTAd AT BT Fad &R0T
TR BTN | 3Y& (Al G 3R R & diethRul Y 38 AR 9d a1 Sl Sieiifiies wifd & iy uad gafl
| Sl 2rered] H =i M & IUDRUN auT UIeHFifdal & GgarT o IS &1 GIER= BT B gul
gafl |

The inference from the passage is that:

1. Specialized expertise is absolutely essential.
2. An industrial society is a welfare society.
3. Conviviality should have its own limits.
4. Industrialization is highly beneficial.
1) 1
2) 2



3) 3
(4) 4

1. fafery foxigar Fdid emeaws © |

2. 3ENfTS TN U9 HdUbRI AN § |
3. foTiexiiaar & st JAme gt anfgu |
4. NPT 3dd ATHPRI ¢ |

11

) 2

3) 3

(4) 4

1[Option ID=597]
2[Option ID=598]
3[Option ID=599]
4[Option ID=600]




